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Topic:- Physics

1) A stone of mass 50 gm is tied to a string of length 10 cm. The minimum velocity at the highest point
required for a stone to maintain motion in a vertical circle is (take g =10 m/s?): / 50 UTH SIIHT Cg Uh

TRR B 10 AdTHex aHars & 4m A 960 77 TR F U FuhtR qaqa i nd s R @ &
fore Tatem fig W mawas g=aw a1 ® (g =10 mys? &):

1. 1 m/s
2. 5m/s
3.5 cm/s

4. 10 m/s

Correct Answer :-

« 1 m/s

2) A block of mass 2 kg slides down an inclined plane of slope 1 in 50 at uniform speed. The coefficient
of Kinetic friction is: / T 2 fHE@RITT ST 1 ¢H ST THTAM T W 50 H AT 1 & 3Td G
¥ - fraear 8 | iferst wfor &1 qune 3

1.2.5
2.0.02
3.02
4.0.25

Correct Answer :-

« 0.02

3)



A truck of mass 5 ton is moving on a horizontal road at a constant velocity of 54 km/hr. If the force due

to friction is 10 kgwt/ton, the power developed by the engine of the truck (g = 10 m/s2) is: / 5 &1 SHHTA

®1 TP ¢, 54 fprii/tier & FRER 37 A v dfos e W 9a 381 21 afe afur & +Rur 9« 10
kgwt/ton %,\_'ﬁ'ga?a?g\_ﬂ'q(g= 10 Iﬂ@z)mmmﬁ%:

1.270 W
2.27000 W
3.75W

4, 7500 W

Correct Answer :-

« 7500 W

4) A pendulum bob is drawn to the side so that it rises to a vertical height of 5 cm from the mean
position. The velocity of the bob as it crosses the mean position is: / TP ﬂg?m CICEQ Uh d¥Pp g9
UHR Wi oirar 8, f ag arw fRAfT A 5 A 3t Seafer Fag w® ugaar 81 ara R H IR
HRd gL AT HT AT §:

1. 1 m/s
2.0.01 m/s
3. 10 m/s

4. 0.1 m/s

Correct Answer :-

e 1m/s

5) River water flows at a rate of 3 km/hr. A man can swim in still water at 4 km/hr. If he wants to swim

across a river in shortest time, he has to swim: /=r<ﬁ$ru1=ﬁ3 %:ﬁ/aaaa"ra?ﬁuﬂﬁ%ﬂﬁm?-l Tdh
ﬁﬁﬁnwﬂﬁﬂaﬁﬁvm%luﬁﬁmﬁmwﬁﬁﬁﬁwmi?ﬁsﬁ

1. At an angle of 60° with the normal /4ITHII T 60° b HIVT TR
2. At an angle of 45° with the normal / YHTHIY q 45° & DIV IR
3. At an angle of 30° with the normal / UHTHI T 30° F DIV

4, Perpendicular to the flow of water / U o UdTg & daad

Correct Answer :-

« Perpendicular to the flow of water / Ml & YUdlg & daad



6) A particle makes simple harmonic motion about its mean position O between the points A and B
separated by 4 cm. It has maximum acceleration at: / Ycb HUI, 4 Ift. 9 ST A 3R B ﬁ’g"\’rﬁ F
3=t mre fRufar o & wefta v smad nifer a=man 2 1 39 e W siftreay qaror 8:

1.0only/WO
2.Aonly/mA
3.B0nly/WB
4. Both A and B/ A 3R B &I

Correct Answer :-

« Both A and B/ A 3R B &HI

7) A particle from rest with uniform acceleration covers a distance S; m in t seconds. It covers S, in the
next t seconds, then: / T HHT @RI & ATY fIRTH A TF S« Abs A 5, Hex g T HRaAT g1 I8
3T t AHS A S, 99 HdT &, a9:

1. S, =48,
2.8,=3S,
3.8,=S,

4.8, =2S,

Correct Answer :-

. 82:381

8) A particle executing simple harmonic motion has acceleration of: / Il 3Tad fa &I frarf=aa
A qTel HUT BT ARV §9 UPR HT 5141 6

1. Changing magnitude but constant direction / gRacRita gfamor tﬂﬂ @R fa=m
2. Changing magnitude and direction / gRad=ie afeamr $iR fazm

3. Constant magnitude and direction / &R gfemTr 3k fa=m

4. Constant magnitude but changing direction / R gfemmo tRﬂ PIRCRRRI fa=m

Correct Answer :-

« Changing magnitude and direction / g afkamr 3R faw

9) A spring of spring constant 80 N/m is compressed to a distance of 10 cm from its mean position and

then released. The work done by the spring when released is: / 80 N/m FU FRRT® 3 Udh HHTI BT



IH@! Sad R A 10 A4t Bt gt 9 ApTra fbar srar 3 iR SisT 9rdr 31 Bi$A IR HHFL §RT
e T ot §:

1.0.04J
2.04]7
3.40001J

4.4]

Correct Answer :-

« 04])

10) Due to capillary action, liquid in a capillary tube gets depressed if the angle of contact is: / FHIRIPT

foraT & FRUT, HRIET ega A TR 3@ad 1 91T 8 SR TWRI-HI0T g 3:
1. Acute / T
2. 90°

3.0°

4. Obtuse / HfYBIOT

Correct Answer :-

« Obtuse / 3HfYBpIOT

11) Two similar cars A and B are moving up a slope such that the height of A is twice that of B. The
ratio of their potential energies is: / 33[ HHH TI'I'%TIT A GﬁT BU®D cdld IR SH UPR dg ?ﬁ % &A@t
SATE B 3 3 T ¥ IS} FRUTRIST Shettait &7 Surd &

1.1:4
2.2:1
3.1:2

4. 1:1

Correct Answer :-

« 2:1

12) Two balls of masses 5 g and 10 g are thrown vertically upwards with the same speed of 5 m/s.
During the downward motion they pass through the point of projection with the speeds v; and v,, then (

neglecting air resistance): /591 3R 10 Wmﬁaﬁ, 5H /| B GHH I & 1Y SHUWR
Bt 3R Bl 5| S 1A & R, T v, 3R v, ATl & A1 &Y fig 3 Tordl §, @ @rg
AfoRIY P THR §U):



1.vi=10m/s and v, =10 m/s / v{ = 10 m/s 3'ﬁTV2 =10 m/s
2.V =vpy=5m/s
3. vy =10m/s and v, =5 m/s / v{ =10m/s 3R vy =5m/s

4.vi=5m/sand v, =10 m/s / v| =5 m/s 3‘ﬁTV2 =10 m/s

Correct Answer :-
. V] = V2 =5 m/s

13) Two bullets are fired simultaneously from two guns with horizontal velocities of 25 m/s and 75 m/s
from the same height 20 m above the ground. The ratio of the time taken by the bullets to reach the

ground is: /25ﬁ@aﬁvsrﬁ/ﬁ%éﬁmaﬁﬁﬁaﬁmﬁﬁqﬁzoﬁwﬁwmﬁ
TS 1Y & Ml gars 75 | SHiE 1R ugeq & e miferal gr ferar ar 9w 59 sgua § 3:

1.3:1
2.1:2
3.1:3

4, 1:1

Correct Answer :-

14) Two masses 20 gm each are tied to strings of lengths 30 cm and 45 cm, respectively, and rotated in a
horizontal circle with speeds v; and v,. If the centripetal forces on them are the same, then: / TP 20

1 & &I fifs swa=T: 30 T 3R 45 A F da1s & 9T A T T, 3R v, 3R v, Tl & Iy T
afas gu o gur 181 afe 39 wR @ 38 SifUPda 99 quE €, ot

1. velocity is independent of length of the string / aTL T B Eﬁn's‘ ¥ WA %l
2. vy is greater than v, / vy Vzﬁ 3fIF ]

3.Vi=Vva/Vi=Vp

4. vy is greater than vy / v vj T 3fF B

Correct Answer :-

* Vv is greater than vi / vy vj T 3w B

15) Two pieces of wires of same material have lengths in the ratio 1:2 and their diameters in the ratio
2:1. If they are stretched by the same force, their elongation will be in the ratio: / JHIT GIEVIREE]



ORI & gl ghsl DI dATS i 1:2 P FUTd H § 3R IABT AT 2:1 & 3UTd | 31 gf¢ d AU I
RT W Tt 8, @t 371 Sreifevur 33 ergura § 8-

1. 1:8
2.1:4
3.2:1
4. 4:1

Correct Answer :-

e 1:8

16) A girl child sitting on a swing stands up while swinging. The time period of oscillation i 31‘@

R 33 o= @ Y@ LTS A I B JeA Frwwm @iy |
1. increases / aa‘cﬁ %

2. remains the same / TH &1 §

3. decreases / U §

4. first increases and then decreases / U8Q 9@d! g 3R bR gedt §

Correct Answer :-

« decreases / gcdl %

17) A liquid flows in a tube of non-uniform area of cross section. The ratio of their velocities at cross-
section of area a; and a, will be: / U® %d, U PTC & UM &ABd HI TP cgd | Udlied il
T IR BTE & ETBa! a, 3R a, TR TP AN BT U 3:

1. aj/a
2.Va/a,
3. Vay/a,
4. ay/a;

Correct Answer :-

18) Three point masses 3 gm, 2 gm and 8 gm are placed at the vertices of an equilateral triangle of side
4 cm. The moment of inertia of the system about an axis passing through 3 gm and along its altitude is: /
i fag wafoml 3 umm, 2 amw 3R 8 IT9 &Y 4 A+t Yo & v JuYS Hrwivr & el wv v@ a3
T | T[OR T8 318 P Iavad: I SAD| Ga1s P 1Y 7 PT JIScd MY} 8:



1. 40 gm cm?

2. 60 gm cm?

3.20 gm cm?
4. 40 kg m?

Correct Answer :-

« 40 gm cm?

19) A body of mass 5 gm is tied to a weightless string of length 10cm and rotated in a vertical circle. The

tension on the string at the highest point so that it just crosses over that point is (g =10 m/s?): / 5 ATH

ST D1 aqg DI 10 YU AHATS & YR YT A F41 7471 3R SHeafer gaa o o T
gated fig W 4m W 9114, fora a8 3t 39 fag Hl UR #a1 8, A 8 (g =10 m / s2):

1.5N
2.0.05N
3.50N

4. 0N

Correct Answer :-

« ON

20) A body thrown up vertically to a height 5 m came down to the same position in 10 seconds. The

average velocity of the body is: /wawﬁsnﬁstﬁaﬁmWWn%aﬂg 3=t Ju fRufa
W 10 JHs | qTUY 3415 | TG BT 39d A7 3:

1. 1 m/s
2.0.5m/s
3.0.25m/s

4. 0 m/s

Correct Answer :-
« Om/s

21) A bomb explodes into two fragments of masses 3 kg and 6 kg. The velocity of the smaller fragment
is 16 m/s. The kinetic energy of the bigger fragment is: / Y dH 3 foram 3R 6 frmn & Sl Wi A
foepifed gia1 81 BIC TS ST 16 WA 71 93 WS Fi A ol 8:

1.8]



2.192]
3.481J

4.96]

Correct Answer :-

« 1921]

22) A food packet is released from a helicopter flying horizontally. The trajectory of the packet will be

a: / AfST I 72 APIPR T UiV BT Udbe BisT 4TI Ydbe BT USUdH SHI:
1. Parabola / UXdcig

2. Semicircular / HW

3. Hyperbola / 3ffduRaer

4. Straight line / et X

Correct Answer :-

« Parabola /Udclg

23) A few'y' droplets are brought together to form a big drop adiabatically. The temperature of the big
drop is: / 3 'y' §&1 B FRRIYH U J T 981 §¢ 91 & fore a1y o @ ivan 31 53 §g o1
ATIH §:

1. Less than the droplets / @ A

2. Same as the droplets / a@ & qAH

3. Depends on the temperature of the surrounding medium / 3{THUTH & AN & dIAH W AR Far %
4. More than the droplets / Q@f SEEIRED

Correct Answer :-

« More than the droplets / Qﬁf ¥ 3ff

24) A diver jumping in to the pond from a diving board folds his arms and legs and brings them

towards the center of his body so as to: /wmﬁﬁmﬁﬁﬁmwrﬁmm
yerait 3R IR ) Aisdr € 3l S o TR & $g @Y 3R @ @ e 98

1. Decrease his moment of inertia to decrease his angular velocity / 30 HIUNY AT HH B & ﬁ“l'q 30
ST 3ol &l gerar B

2. Decrease his moment of inertia to increase his angular velocity / 3{U-l P0G AT aaﬁ & fou ag s
TS 3Tl P! HeTdr ]|



3. Increase his moment of inertia so as to increase his angular velocity / 30 visdd GH'EJ;UT DI dGIdl & dlich
317 DIUIG 471 1 B fobar o Heb |

4. Increase his moment of inertia and hence to increase his linear velocity / 3T sledd 3‘IT§[UT Eal dedl g
S P I I AT 9¢ ST B

Correct Answer :-

« Decrease his moment of inertia to increase his angular velocity / 3{U-l PO o GE'I%T & fau ag s
TS 3TYUl B! Uerdr g |

25) Which of the following pairs of physical quantities have similar dimensions? / Wifas el &

fFrafefad g & A f5=1e smam Ja= 82

1. Work and power / P 3R Tied

2. Impulse and linear momentum / T 3R XH G
3. Force and impulse / 9¢1 3R 3T

4. Force and pressure / d¢1 3R ald

Correct Answer :-

« Impulse and linear momentum / 3T 3R XH G

26) Which one of the following statements is INCORRECT regarding uniform circular motion? /

THHAT Jqeld fd & IR § 59 & J &1 91 TP U= Tad 82
1. Magnitude and direction of acceleration remains constant. / <dXU[ b gR&ToT 3R fam RRR TE»'?T %I

2. Direction of velocity at any point is along the tangent drawn at that point / fomait oft ﬁ‘g TR a7 B! fa=m, 39

fofg TR =it 78 TR & Ay g B

3. There is only radial acceleration. / agl Had 3RG @RI m %I

4. Acceleration and velocity are always perpendicular to each other. / XUl 3R T RERURED §F|§ & dead
Hokd

Correct Answer :-

« Magnitude and direction of acceleration remains constant. / ¢<dXU[ ] TRHATT 3R fo=m RR ?éa %I

27) Which one of the following statements is INCORRECT about Kinetic friction? / Tiferst gvur & IR

# 9§ O 31 91 TP $YA T 87

1. It is always greater than the limiting static friction. / g U S Rfds gifor F 31w g %I
2. It is directly proportional to the normal reaction. / g Jfds ufafrar & Wﬂqﬁﬁ gIar %I

3. It always acts opposite to the direction of motion. / Ug THRM 1A &1 fo=n & faudid & wra % |



4, Rolling friction is always less than sliding friction. / Soel gy U1 UM Uf U0 Y 6 H Bidl 5|

Correct Answer :-

« It is always greater than the limiting static friction. / g o Waia Rfdew gvor § s Sl gl

28) If the units of force and work are 10 N and 500J, then the unit of length is: / afe 9a 3R &1l Ft

SHISYT 10 N 3NR 500 J €, Y FATS B SPTS 8-
1.0.5m

2.50m

3.02m

4.5m

Correct Answer :-

e« 50m

29) The second hand of a clock has length of 3 cm. The linear speed of its tip is: /Q’G‘Tﬂ'@.ﬁ AR

aTell g3 31 daTg 3 9 71 IS feu ot e wifa &
1.3.14 cm/s
2.3.14 m/s
3.31.4 em/s

4.0.314 cm/s

Correct Answer :-

e« 0.314 cm/s

30) The ratio of distance to displacement of a cyclist who covered a semicircle of diameter ‘d’ is: / Th

arsfera aras foram <o’ sarT &1 g IRT faran, Iaat gt &1 fawiru= & srura 8:
1. 11
2. 21
3.1/2
4. /4

Correct Answer :-

o T/2



31) The maximum range of a projectile is 4 km. The maximum height reached by it during its motion

is: / TP YA B} AfrpaH W 4 fp 81 3ra=h 7if & SR a8 39 SRIPad Sars W Ugam:
1.0.5km

2. 1km

3.2 km

4.4 km

Correct Answer :-

e 1 km

32) The ideal gas equation PV = RT can be used for real gases at: / 3113'52'? T HIBRT PV = RT

areafae 4T & forg 39 W IuaT far o aoar g:

1. Low pressure and high temperature / ﬁtﬁ 3§ 3R 3= dM
2. Low density and low temperature / ﬁ'ﬂlﬁ g 3R Y drg
3. High pressure and low temperature / 3= qld 3R ﬁtlﬁ dra

4. High density and high temperature / 3= Y-cd 3R = am

Correct Answer :-

o Low pressure and high temperature / ﬁ'ﬁlﬁ a9 3R 3= a1

33) The dimensional formula of Planck’s constant is: / Wi® fraaie fadfta el %:
1. MLT

2. ML?T2

3. ML*T"!

4 MLIT!

Correct Answer :-

« ML2T!

34) The average translational Kinetic energy of a monoatomic molecule of an ideal gas at absolute

temperature is: / QU ATHT UR U 3MTeRf 7199 & THURHIUS 3(0] $1 3iad I fast St gl &:
1. 2kT

2.3/2kT



3.kT
4.k T

Correct Answer :-

« 3/2KkT

35) The rms speed of the gas molecules at 800 K is: / 800 K UX ﬁﬂ GFUJSﬁ Cd| SIRUHTY T ﬁ?ﬁ %:
1. Same as 200 K / 200 K & JHH

2. Two times at 200 K / 200 K &1 &l TFT

3. Half of that at 200 K / 200 K 1 3Teft

4. Four times at 200 K / 200 K &1 IR T[T

Correct Answer :-

« Two times at 200 K /200 K &1 &I T[T

36) The intensities of two sound waves are in the ratio 16:25. The ratio of their amplitudes is: /33[ tafy

A B AT 16:25 F TUTT | § | I AT BT U 3
1.5:4

2.16:25

3.4:5

4. 1:1

Correct Answer :-

37) The physical quantity that can be measured from the graph between force and displacement of a

body is: / TG & I 3R fIRUTTT F Sl & 3@ grR1 39 Wifasw TR &1 wrar o1 JHar 3:
1. Work done by the force / dcl gIRT fopan T Hrd

2. Velocity of the body / %] T Tl

3. Power developed during that time interval / 39 THY 3{dRTel b SR fa® iR E’&F RIES]

4. Acceleration of the body / d¥g T R

Correct Answer :-

« Work done by the force / §& gRT foar a1 R



38) The moment of inertia of a thin uniform rod of mass ‘M’ and length ‘I’ about an axis passing
through one end of the rod and perpendicular to its length is: / ‘M’ SSTHTA 3R v m'lg ®t W'q?l?ﬁ
THIAR TS P IS ATYYT, TP TH R A oA areil 31ef F I 3R 39 T8 & dadd 3:

1. ML%/4
2. ML%/3
3. ML?

4. ML%/12

Correct Answer :-

. ML%3

39) The limiting static friction does NOT depend on: / Hwia wifae afor W R EHEZGI %:
1. Nature of the surface / Gdg 1 m

2. Area of contact / IUdh BT 3?|9|UDQ'1
3. The normal reaction from the surface / ddo T 3Hfiets ufafesar

4. Weight of the body / d{J PT dul

Correct Answer :-

« Area of contact / IUdh BT 3?|9|UDQ'1

40) The momentum of a body of mass 5 kg is 15 kg m/s. Its kinetic energy is: / 5 foreuma g ot

g BT HAT 15 franmr dft/ | 31 g9 nfes et 8:
162517

2.2251]

3.45]

4.257

Correct Answer :-

e 225]

41) The quantity which has neither unit nor dimension is: / 9§ AR ot T ng geRAd
T B:

1. Angle / B0l



2. Solid angle / 31 DIUT
3. Planck’s constant / @i [Madis
4. Strain / fadfa

Correct Answer :-

o Strain/ ﬁ?ﬂ%

42) The shape of a very small liquid drop is determined by: / dgd Bt ga &t E]'?: BT THPR 3'\‘1%? QIR
Fryffva fevan simar &:

1. Surface tension / YYS-d-Id
2. Viscosity / Rl

3. Gravitational force / WQCUT qd

4. Density of the liquid / %d T Ydd

Correct Answer :-

« Surface tension / YYS-d-Id

43) The angular momentum of a particle rotating about an axis is equal to: / T &l & U ﬂ;Uh Xy

e TP DU PT HIVY HaT §HS SRR 8141 o:

1. Half the product of its mass and areal velocity / I9H M 3R &I AT H RG] & Y
2. Twice the product of its mass and areal velocity / I9P THM 3R & AT H 019 & aﬂef
3. The product of its mass and angular velocity / IqP THM 3R HIvig T & U ®

4, The product of its mass and areal velocity / I9P M 3R &I I H Ut d

Correct Answer :-

« Twice the product of its mass and areal velocity / ITP G 3R & T &H RG] Fq 1|3|

44) The relation between linear velocity ‘v’ and angular velocity ‘@’ is: / QAP AT v R FIvfg N
‘o' P ST HGEY 3:

1.v=r’a
2.v=r/a
3.V=1rom
4. 0=rv

Correct Answer :-



45) The displacement of a particle is given by y = xy — x t% in t seconds. The acceleration is given by: /

TP $U1 BT AR, t AHS B y = x,) - x 2 GRT 5 a1 8 1 @vor fom gy fan simar @:
1. 2x
2. X
3.2x
4.2t

Correct Answer :-

o -2X

46) The amplitude of an oscillating simple pendulum is doubled. The velocity of the pendulum at the

mean position: / T GIE- H3 dTd IS AP BT MTATH GRAT H e orar 8 1 Aren R w®
D BT AT 8-

1. Becomes four times its initial value / 3 URINH HH &1 IR & ST 5 |
2. Becomes half of its initial value / 3 WRIH A BT TN §9 A1 B |

3. Remains the same / JHF 3T § |

4. Becomes \2 times its initial value / 3H& URH® T 6T \2 NCICERSIGI g

Correct Answer :-

« Becomes \2 times its initial value / 3¥d URIN® T 6T \2 NCICERSIGI g

47) The SI unit of stress / strain is: / Wfcae / ﬁ?ﬁf BT SI WI'S: &

1. N/m?

2. N/m
3. Nm?2
4. Nm?3

Correct Answer :-

« N/m?

48) The SI unit of thermal conductivity is: / SHSHT dTAD T B SI Eﬂ‘ﬂi %:



1. Km'1
2. WmlK!

3. WK!

4. Kelvin / dfead

Correct Answer :-

« Wmlk'!

49) What happens for a conductor at steady state (neglecting heat losses to the surroundings)? / Tt
AT IR TP HATe®d & foIE F9T §IdT 3 (TATaR0l § ST 1T Bl 1 AHSBR)?

1. Heat energy reaching each section is completely transferred to the adjacent one. / Td® SITHIT d tl@”?ﬁ
TRt ST S, T RE F ISP UG a7 TR RIFTARd 81 et ]

2. Heat energy reaching any section is completely absorbed by it. / foa ot SITHIT db UEEIeT CISIRSI]
Foll, 3P GRT LT IRE IR g1 oIt 8 |

3. Temperature of each section keeps decreasing with time. / SO S{THNT T dIYHT HHY & 1Y gedl Igdl
g

4. Temperature of each section keeps increasing with time. / S[UL S{FHNT oI dIYHT JHY & Y dedlXgdl
gl
Correct Answer :-

« Heat energy reaching each section is completely transferred to the adjacent one. / Td® SITHIT dh 13|EV?|%[

qTel) ST o, T TRE ¥ IS UTR{a a1 R RN & ol |

50) If three vectors A, B, and C are represented in magnitude and direction as the three sides of a

triangle taken in the same order, it shows that: / ?ﬂqu, B, 3R ¢ & gfATT 3R ﬁ‘mwﬂw
# ue Bwu #1 7 Yot & wu & yehikia frd wma €, ot ag gxifar g fa:

1.A+C=B

2. A+B=C

3. A-B=C

4. A+B+C=0
Correct Answer :-

Topic:- Chemistry



1)
In alkaline medium, amino acids exists as where as in acidic medium it exists

as .| ST A A, A A S Y H Al 8T § SAafE el Arean 7
4 & T H Alg 7l B

cation Fwiltterion anion
[ 1)
M - M il s |
| i | = (=l | .
£ [ M3 e [ L Oy T [ £ [ LMY
| | |
H H H
i
lowe piH (=] high pH

1. zwitterion, anion / GWT%I'QGIW:T , RO
2. cation, zwitterion / Y-TI, SHATAT T
3. cation, anion / cation / YT, FUMI /YT

4. anion, cation / RO, YT

Correct Answer :-
« anion, cation / FEOTI, YT
2)
For the reaction Naig+3Hzq 22NHzqg), the AH,” = —92.4 kJ. What is the standard
enthalpy of formation of NH:? / Nzg+3Hzq 22NHzg HTHERTT % forT, AH° = —92.4 kJ
g1 NH: % f&aor & T, aes quiftss == 87

1. —92.4 kJ/mol
2. —46.2 kJ/mol
3. +46.2 kJ/mol

4, +92.4 kJ/mol

Correct Answer :-

* —46.2 kJ/mol

3) What is the importance of H:0: in the reaction given below?
Iz + H202 + 20H- =2 2I- + 2H:0 + O: (in basic medium) /
=1 2r 1S HTAGRI A H.0: T FTAET &7
2 + H:0; + 20H = 2 + 2H,0 + O: (T AIAH)

1. Hy0, acts as the oxidizing agent / Hy0, 3{RIIERUI ¥eb &b U H BT Bl 5 |



2. H,O, maintains the basic nature of the medium / HO, HIEH D! &RIY Ypld IR T@AT B |

3. H,0, acts as the reducing agent / H,O, 3{Uddh HHE & = H B AT 5 |

4. H,O, acts as a catalyst / H,O, U 3RS & &0 H HTF IR g |

Correct Answer :-

« H,0, acts as the reducing agent / H,0, 30ATI® HH® & ¥9 H S Hdl 5 |

a)
In the below equation, the concentration of oxygen

increases, the rate of decomposition of ozone__ . /
drer feu v g #, afe stedss Fr gigar s g,
T HAT F RAgeg Frex g FEr gl

Os ky O+ Q --—-fast/da

k-

5
O+0; —=» 20, -—— slow /Y

1. increases / aa—cﬁ %
2. remains the same / JHIH QET‘?[ %
3. decreases / hH Eﬂ?‘ﬁ %

4. cannot be assumed / BTeId '_ﬁ)f CARSIR Gl %

Correct Answer :-

e decreases / hH fﬁ?ﬁ %

5) In nucleotide, the phosphate group is bonded with sugar at: /@Gﬁm ﬁ, BIabe qHqg P T & 1Y
39 W 3% frar S 8:



1. I'and 5° carbon / 1' 3R 5' BT&
2.3'and 5’ carbon / 3' 3R 5' BIE
3. 3'and 4' carbon / 3' 3R 4' HTE
4.1” and 3’ carbon / 1' 3R 3' HIa

Correct Answer :-

e 3"and 5’ carbon/3' 3ﬁ? 5 CACE|

6) A hydrocarbon X adds one mole of hydrogen in presence of platinum catalyst to give n-hexane. On ozonolysis
of X followed by hydrolysis, propanal (CH;—CH,—CHO) is obtained as the only product. Identify X. /

EISSIBIE X, n-20 &1 & I W4 SaR® F SufRUfY A TS SIo &1 T TITHII SIS g1 X & Sid-
3ATHE & YT SNSIARY R, IATE & U § Had W= (CH;—CH,—CHO) U BT 81 X &I

REELRL

1. Hex-1-ene / GoRI-1-5

2. Hex-3-ene / %’aﬂ-s-‘%ﬂ

3. 2-Methyl-2-hexene / Z-ﬁﬁlﬁ-}%ﬁﬂ:{
4, Hex-2-ene / %W—Z—g_"l

Correct Answer :-

e Hex-3-ene/ %Wé—g_"l

7) How the following two compounds are represented using Stock notation? / TP IS BT YN b (F

< @i $Q welkia fed wmd 82



1. Auric chloride / 3TI¥® FARISS
2. Potassium chromate / TR HAT

1. AuCl; (II) , K, CrO, (I, VI)
2. Au™3Cly , K,Cro,

3. Aut3c 1 K, Plerto, 2
4. Au(IINCly , K, (ICr(VI)O,

Correct Answer :-

« Au(IlI)Cly , K, (NCr(VI)O,

8) Identify the hydride for which the law of constant composition does not hold good? / 3 BISSISS 31 yga=

Fiforg, R forg fRR TaieH &1 foraa g T8 82
1. MgH,

2. NiH

3. B,Hj

4, CH2= CH2

Correct Answer :-
« NiH

9) How many electrons in argon have magnetic quantum number (m) value equal to 0? / 3 # fhaq

AT BT YIS HI<H BT (m) AT, 0 F SRR ST 82
1.6
2. 12
3. 10

4.8

Correct Answer :-

10) Which one of the following gases is prepared by coal gasification process? / PIadr TS0 ufehar & gRI

e § @ o1 i TR A ot 22

1. Marsh gas / U T

2. Producer gas / EI}IW o



3. Syngas / R
4, Mustard gas / s g

Correct Answer :-

« Syngas / g

11) Which one of the following ligands can form a chelate? / o a3 o9 3 deht TP Dide 991 IPd 34

1. Acetate / QF“%E
2. Ammonia / 3=

3. Cyanide / HIIIgS
4. Oxalate / 3fdTcIe

Correct Answer :-

« Oxalate / AT

12) Which one of the following statements is INCORRECT? / ﬁ'ﬂ sk | CaC T Y Td %?

1. The basic structural unit of Silicates is Si032_ AGINEEE] ﬁﬂﬁ ARATHSD 3DTS Si032_%|

2. PbO; is a stronger oxidizing agent than SnO, / PbO, SnO, Edl SNSRI HUb Holqd STl D ¢ |

3. Sn (IT) is a good reducing agent but Pb (II) is not. / Sn (II) TP H=3T UITh 8 fd Pb (11 TRIBI

4. PbCly is less stable than SnCly but PbCl, is more stable than SnCl, /PbCly SnCly ¥ %A fRR giar g dfoe PbCl,,
SnCl, ¥ 3w RR a5l

Correct Answer :-

¢ The basic structural unit of Silicates is SiO32_ | faferpet ﬁqﬂ IRAATHD $Obl'i: Si032_%|

13) Which one of the following statements is true for an experiment in which light radiations are focused on
Rubidium metal? / 55 & A $19 1 TF HY TH TaNT & fore ey 3 forad yearr fafeon «t wfafsaw urg
W Ffga faar srar 32

1. The emitted electrons have zero energy. / Iford 3@7@'\@ o RIGIECYS ik

2. The emitted electrons have energy less than a maximum value of energy depending on the intensity of the incident

light. / ST SATCII BT Soll, SMTUfd UHT Bt Al & YR W SHoll &b HIHad 7 I HH gl o |

3. The emitted electrons have energy less than a maximum value of energy depending on the frequency of the incident

light. / ST SAGCI! B ST, SATAfA THT BT TR & SMUR TR FHoll & HHad 7 J &1 gl g |

4. The emitted electrons have energy equal to the energy of the photons incident on the metal. / IfoTd 5010?§T'1f | YTd

TR 3TUfad BIeld Bl SHoll & SRR SHolf gl g |




Correct Answer :-

o The emitted electrons have energy less than a maximum value of energy depending on the frequency of the incident

light. / IR SAGCI! 1 Soll, STUfAd YT B AT & YR WR SHoll & HwHad A J HH gl g |

14) Which one of the following elements is present in the largest proportion in the human body? / HIFd WA

T 3t Srqura A g o | H19 1 9 Misg g1 82
1.K
2. Fe
3.Ca

4. Na

Correct Answer :-

15) Which of the particles listed below is emitted when the n/p ratio of the radioactive isotope of an element is

greater than that of the stable isotope of the element? / CiE] ﬂ?ﬂﬂ@ PUN H A P AT IO ﬁ?ﬂ % ol Uh
I & ASAfha RIS T n/p ST, T & TR T § 3if¥e giar g2

1. Beta particle / Sier Hu
2. Alpha particle / Teth] T
3. Positron / Uﬁ\lr@'l:[

4. Neutron / QKT'_‘T

Correct Answer :-

« Beta particle / Sier &

16) Which of the following sets contain only isoelectronic species? / fFafafea A H9 I e A Faa
rgdaeH! wiefiv SufRe g 82

1.Na", K', CI—, F—
2.0, Na",F~, Ar
3.Ti™, Sc3", €I, Ar
4.P73,872,CI, Na"
Correct Answer :-

o Ti™ Sc3*, I, Ar



17) On heating with conc. H,SOy, formic acid does not form anhydride because: / wifed H,S04 & 1Y T A
W, BITHS T, TIEISSISS FI f-ior 781 Fwar § Fif:

1. It gives Hy / 9% Hp a_dT%I

2. It gives CO and H,0 / T8 CO 3R H,0 a1 ]|
3. It gives CO, / T8 CO, T 8|

4, It is thermally stable / g dI4 fRR g % |

Correct Answer :-

« It gives CO and H,0 / T8 CO 3R H,0 T 3|

18) The packing fraction of an element if it crystallizes in a simple cubic arrangementis__ ./ T®d dcd BT

UHE U ? Ul 98 Th WIYRUI 9 a1 ¥ febeed arar 31
1. /2
2. /4
3. /6

4, /3

Correct Answer :-

o /6

19) What would be the outermost shell electronic configuration of the element Ununoctium (symbol is Uuo)? /

I gIAfeeaH (AP Uuo 8) P STEIdH HIR &1 A 4P fI=aTg 1 g2
1. 852

2. 8s!

3. 752 7p°

4. 75> 7p4

Correct Answer :-

. 7% 7p6

20) What is the pH of 0.4M NaOH solution? / 0.4M NaOH faaa &1 pH HIT 8?
1.4.0
2. 13.6029

3.10.0



4. 11.01

Correct Answer :-

* 13.6029

21) Pick out the compound having intramolecular hydrogen bonds. / 3id:3[U[& EE@FF{ STY gord qiftre

gl

1. Formic acid / BIfHe 3

2. O—nitrobenzoic acid. / o—@éﬁhﬁ 3T
3. O—chlorophenol. / O—FARIBHIA

4. CH;COOH

Correct Answer :-

e O-—nitrobenzoic acid. / O— 3@3@ P 3K

22) The reason for energy of a2p, & a2p, MOs being lower than 62pz MO in N, molecule is: / n2p, 3R n2py
MOs 3t FHuil, N, 30 F 62p, MO | FH §IF HT PRI &:

1. The wave functions of 2p, orbitals undergo destructive interference and the amplitudes of the waves get subtracted /

2p, SHifdicet P T B fareht cfiesRor & ToRd § iR a3l & 3 e §

2. The wave functions of 2p, and 2py orbitals of N atoms undergo constructive interference and amplitudes of the waves

get added up / N TRHTISAT & 2p, 3R 2p, Sfifeieet & T e TS Sl I ToRd § 3R TR b 3ard
3. The intermixing of 2s and 2p, orbitals which are in close proximity / 2s 3R 2p, Sfffsed &1 Gi?lﬁf%rm, S e
e d ¢
4. The 2p, orbitals are oriented along the inter nuclear axis and overlap is minimal / 2p, 3fffefed , RTINS 3fef TR
I g1 § SiR Sifeafer g ¢

Correct Answer :-

 The intermixing of 2s and 2p, orbitals which are in close proximity / 2s 3R 2p, 3fffded &1 &i?r&f%rm, S e
RIEEN

23) The yield of chlorobenzene is less when phenol is treated with PClg due to the formation of: / fipeTa &Y PCl;

& 1Y ITATNT B W $HP AT F PRI FRIRNSI 1 B ST HH gIell o
1. p-Chlorophenol / p-SARIB I

2. Triphenyl phosphate / Eﬁ?ﬁa BHiehe

3. 0-Chlorophenol / o-FARIBIAI



4. Phosphorous oxychloride / IR RY HTdHr\Id'ﬂIQIi;S

Correct Answer :-

e Triphenyl phosphate / Eﬁb‘ﬁﬁ BHihe

24) The monomer unit of neoprene rubber is: / s TR &1 Thddh WI% %:
1. Ethylene / Erfil?ﬂ:l

2. Styrene / T

3. But-1,3-diene / 2-1,3-S183

4. Chloroprene / FARIH

Correct Answer :-

e Chloroprene / FARIA

25) The most stable complex ion is: / TG fRIT Sifed Mg 8:
1. [Fe(OH)5]>

2. [Fe(H,0)6]*"

3. [Fe(Cl)g]*"

4. [Fe(CN)gI*

Correct Answer :-

« [Fe(CN)gJ*

26) If the average osmotic pressure of the human blood is 7.8 bar at 37 degree centigrade, the concentration of
aqueous NaCl that can be used in blood stream is: / gfe A9 Yo BT 3NTd WRRH g9 37 & AR w 7.8
IR 2, A Yo waTe A STGIT fFT ST WA aTel STt NaCl $T |igo 8:

1.0.03 M
2.03M
3.0.06 M

4.0.6 M

Correct Answer :-

« 0.3 M



If the electrochemical equivalent of a divalent metal is 3 x 10'4, then the atomic mass of the metal is i 'qﬁ'
TF fRIaIT® 4T $T AGU-IHRS Jodih 3 x 1074 §, a1 UTg &1 uRATy-efa g

1.40.2

2.63.6

3.57.9

4. 108

Correct Answer :-
e 579

28) Cu,O is colored due to: / Cu,O Wﬂa PRI ghaT 8:

1. d-d transition / d-d HspHUT

2. Charge transfer from oxygen to metal / SRt 1g T 3R 3fRT
3. Charge transfer from metal to oxygen / Ulq I TS I 1A SfaRur
4. Presence of unpaired electrons / Gi'ﬁﬁim sﬁag‘l':h P IufRufa

Correct Answer :-

o Charge transfer from oxygen to metal / SfRio o Yrd T SO 3RT

29) ‘Penicillin’ is a type of antibiotic known as: / ofafRifer Uh PR @t E‘é’rawﬁféﬁ % o I UPR ACIC
STl 3:

1. Antiseptic / el
2. Bacteriostatic / Gﬂﬁmjﬁﬁ?ﬁ

3. Bactericidal / Gﬂa'lw
4. Antimicrobial / Elﬁlﬁ&;ﬁﬁabf

Correct Answer :-

« Bactericidal / SITQTUATRIt

30) Toluene when reacted with Cl,/Fe gives p-chlorotoluene as the major product. This is because: /21?!1%‘—[ |

Cly/Fe & ATY GFAfhaT S TR YT IdTE & ¥4 U p-aaRIcTegs - firaar ¢ | 391 31fre gidr 8 #ife:
1. —CHj is an electron withdrawing group. / —CH; U ga?@'\f:f gy oA T e %I

2. —CHj; radical deactivates the benzene ring towards electrophilic substitution. / —CHj P, aéag"lﬂw it AT
1 3R dfoi- I BT ASHd IRAT 5|



3. —CHj radical activates the benzene ring towards electrophilic substitution. / —CHj DM, SAR AR UfTRATI Pt
IR EEREEIRI R ERTIE]

4. —CH; radical activates the benzene ring towards nucleophilic substitution. / —CHjy Huft, AT G ot
3R Sofi g 1 Highy T B |

Correct Answer :-

» —CHj; radical activates the benzene ring towards electrophilic substitution. / —CHj PN, séazjqzll PIREI R ICH|
3R JSi g B! Hfshd AT 5 |

31) In P40, each P atom is linked to oxygen atoms. / P40, H, Ud® P UIHI[ E| STeiter
YRATOLSHT | SIST ST 3|

1.4
2.2
3.10

4.5

Correct Answer :-

32) The specific reaction rate of a first order reaction depends on: / UUH Pife ot sifuferar &1 fafdry siftiferar
R R MR HS:

1. Time / HHY
2. Temperature / dTIHIA
3. Concentration of the product / I & TG0

4, Concentration of the reactant / 3 pHD B Tigur

Correct Answer :-

o Temperature / dTUHIA

33) Syl reactions are much faster in the solvent like: / S\1 sifuferamg, faamas | SO aE 9ggd GERGINE
1. Acetone / THICH

2. Ether / ‘é’?R
3. Alcohol / Tehlgid
4. Dimethylformamide / @mﬂﬁw

Correct Answer :-



« Alcohol / TehIgld

34) During depression of freezing point in a dilute solution, the equilibrium exist between WA AG |

faag= & feuie S & SR, ArRTawT & S Mg gargl
1. liquid solvent and solid solute / &9 faamae 3R 31 fadg

2. liquid solute and solid solvent / %9 oo ik 31 faemas

3. liquid solution and solid solution / &d faera= 3R 31 faeraA

4. solid solvent and solid solute / 31 fada® 3R 31 faa

Correct Answer :-

« liquid solution and solid solution / §d faeig 3R 3 faera=

35) The aqueous solution of borax is used as a cleansing agent because on dissolution in water it

produces ./ ST BT Sy faaa T WiYF ifHeHe &1 davg SuanT fHar Sirdr @ Rife o &
fauea & sRUI, g P JdTed BTl

1. an alkaline solution / Udh &‘I'Iﬂ'q fae=

2. an amphoteric solution / Uch IygyH faaaq

3. a solution which shows bleaching action / Y faera= it fader fosa Wﬁﬂ %
4. an acidic solution / Th 3y faaae

Correct Answer :-

« an alkaline solution / T &R1Y faera=

36) But-2-enal is converted to but-2-enoic acid in presence of: / aE'—Z-QﬁI?I’ ga@! IurAfa | 701?."—2-@33?
3t & ufvafd faar smar e:

1. Schiff’s reagent / e siftretes

2. Bayer’s reagent / IR 3fiHHE

3. Grignard reagent / TR SifiwH®
4. Tollen’s reagent / e SifiHH®

Correct Answer :-

« Tollen’s reagent / TIa AYHHEB

37) Spin only magnetic moment of Ni*? ion in aqueous solution would be (at. no = 28): / ity faera= ° Nit2

ST BT Had gD YT TAHUT §RIT (URHTY] W = 28):

1.2.82 BM



2.4.93 BM
3. 1.73 BM

4. 0 BM

Correct Answer :-

« 2.82BM

38) The correction factor to be taken into consideration while stating the ionisation enthalpy at temperatures

other than at absolute zero (E) is: / UH [T (Eq) & ETAT 3T ATTHT TR I TAA! fRT F3d gU A
RN 0T B faar | v@ 1 ariye:

1. 1E=Ey +3/2 RT
2.1IE=E,+ 52 RT
3.IE=E- 5/2RT
4.IE=E(-3/2RT

Correct Answer :-

« IE=Ey+52RT

39) The chemical composition of slag formed during the smelting process in the extraction of copper is: IGIck g

frspor & weTeE ufrar & R a9 UTgHS &1 RIS WA gl §:

1. FeSiO3
2. CuFeS,
3. Cu,0 and CuS

4. Cu,S and FeO

Correct Answer :-

. FeSiO;

40) The colloids that cannot be coagulated are known as . ﬁ?ﬁg@ o Whfed qﬂﬁ)‘& ST mﬁ, C
__ ogadgl

1. irreversible lyophilic colloids / $ehHUY ZaRI T Hldiigs

2. irreversible lyophobic colloids / G‘IW'UﬂU ZafoRIl PIass
3. reversible lyophilic colloids / ISHHUN SRl didiss

4. reversible lyophobic colloids / Ih AUy gafaRmft ﬁﬂﬁ@



Correct Answer :-

« reversible lyophilic colloids / IHHUT TaRIT Dlalgs

41) Amine with one carbon atom less is formed from amide during which of the following reaction? / THISS |

TS BTd UTHTY] HH &1 T g A @ f5a afufehar & A a1 82
1. Decarboxylation reaction / faeTaifaRTam T sfifar

2. Sandmeyer reaction / AR Sfffgpar

3. Hoffmann bromamide reaction / ‘sfw‘a? §ﬁ'1:|'|'1:|'|3_6r Gﬁ\ 'l-lﬁﬁﬂ

4. Dow’s reaction / 814 ®1 SAfHfcHaT

Correct Answer :-

¢ Hoffmann bromamide reaction / E'\Iﬁq'i_a:f Eﬁ'ﬁﬂ":l'l%g SffHfeRar

42) Radioactive carbon dating cannot be used to determine the age of which one of the following samples? /

%f%uhﬁmma‘q%%ﬂmmﬁauﬁwﬁﬁﬁmwﬁwﬁmmﬁ$ﬁmqﬁ%mmm

1. A very old piece ofwood/?‘lav_fﬁmw dgd YRIT gh Sl

2. Remains of bones of an animal / Tdh S[[HAX &t 3‘%@[ & 3y
3. Remains of the hair of a dead human being / U Hd ESIG & 91 & AR
4. Sample of a rock piece / TH e & TS BT AT

Correct Answer :-

« Sample of a rock piece / U A & THS BT THAT

43) Choose the correct IUPAC name of the compound whose structure is given below: / 3H Ot &1 gl

IUPAC A9 g, foraat wemr T &t g &:

CHy

VSN

—
EH;

1. 5-Ethyl-6-methyloctane / 5-TfId-6-Afd3fTacT
2. 3-Methyl-4-ethyloctane / 3—%—4-@%3‘%%7‘[
3. 4-Ethyl-3-methyloctane / 4-%-3-%\3@
4, 2,3-Diethylheptane / 2933‘@@?1%@7[

Correct Answer :-



e 4-Ethyl-3-methyloctane / 4-Q d-3-Hfddsiiacd

44) Choose the correct statement for the reaction below: / 1d & TT'E;F Sfufpar & f%I'Q GHEXE gﬁ

3CL'# 60H- = BCH +CIO7 +* 3HLO

3CE + 60H- = BEF ‘* Clos + 3H0O

1. Chlorine is oxidized as well as reduced / TR eﬁaﬂqm qYT 3ufad el %

2. Chlorine is reduced only / Fth FRI 3afrd gan g

3. Chlorine is oxidized only / Rt FeiI¥i 3ifafipd g3 g

4. Chlorine is neither oxidized nor reduced / &R 7 e—ﬁ'a%ﬁ% 3R B 3fafad Il %

Correct Answer :-

« Chlorine is oxidized as well as reduced / TR @ﬁ’a?ﬂﬁ a7 (ufad el %

45) CH,4 and H, gases of equal masses are mixed in an empty container. What would be the partial pressure of
H, in the container if it is expressed as a fraction of the total pressure? / SRTaY SIHIH ®1 CH, 3R H, peRecy
@rel ur ¥ farft w5 | s A |, 37 3Hifkre gre w1 g, afe a% T a9 & e & = A rad far s
??

1. 8/9
2. 8/20
3.1/9

4.12

Correct Answer :-

* 8/9

46) Three different compounds P,Q & R are formed by the combination of 2 elements A & B as given
below: Which of the following law is verified by this experimental data? / &+ R At P,Q 3R R, 2
ol A 3R B & TS & 3MYR WR 991 T &, o fop - fear man 8 Pra d Qo= wr fw, 5=
YIRS sl gRT AQTud gH?

1. 40g of A combines with 160g of B to form 200g of P / 40 YTH A, 160 UTH B & 1Yy frerey 200 919 P
LG

2. 18g of A combines with 48g of B to form 66g of Q / 18 UTH A, 48 UTH B & 1Y Fes? 66 UTH Q
CRIGIN

3.0.3g ofg combines with 0.4g of B to form 0.7g of R/ 0.3 UTH A, 0.4 UYTH B & 91y FIEa$ 0.7 AW R
CEIGI



1. Law of definite proportion / R SHJUTd BT g

2. Law of multiple proportion / ﬂfﬁlﬁ STUTd DT oy

3. Law of reciprocal proportion / JchH HJUId I fag
4. Gay-Lussac’s law / ﬁ—w &1 g

Correct Answer :-

« Law of multiple proportion / TfOTd S{FUTd T g

47) Which property does not correspond to the given sequence? / CaEk: | 'ﬂ'UT%I'ﬁﬁ'a ™ S H &
HHEY 81 82

HI < HBr < HC1 < HF

1. Tonic character / 3T T&I0T

2. Dipole moment / %ﬂa \}ITQ:UT

3. Reducing property / U ﬂmﬂﬁ
4. Thermal stability / dTUTT fRRT

Correct Answer :-

» Reducing property / UdTH ‘IUT'ilﬁ

48) If ‘x’ and ‘X’ are the solubility and solubility product, respectively, of a binary compound that is
sparingly soluble in water, then which of the following options is CORRECT? / 3'IR ‘x’ 3R <X HHIT

o fg-aitft diffrer & factaar ofR facraar Sarg & <t urit 7 orev faeia 8, a‘rﬁmﬁﬁﬁ——rmﬁm
g 82

1.x=X/2
2.x=Xx?

3.x=X

4.x=VX
Correct Answer :-
e x=VX

49) Identify ‘X’ in the reaction / Srfferar & <x° q??l'lﬁl'al
RNH, + R’,C=0 — X + H,0

1. Imine/@:ﬂ:[
2. Amine / THISA



3. Alcohol / TehIgId

4, Acid / 3K

Correct Answer :-

e Imine/ Sjﬂ:l

50) For a given cell Pt( Hy ) \ HY(1IM) \\ H' (1M )\ Pt ( H, ), if P; and P, are pressures of hydrogen at
oxidation and reduction potential, respectively; the cell reaction is feasible when: / ﬁq Rl JAd P 'I%I'Q
Pt(Hy)\H'(1M) \\ H'(1M)\ Pt (H, ), af& P, 3R P, UM ATRIHUT 3R Sruera=T fAua w
FTeSIoH & ara &, 7 A fifraT geTe gt o

1.P, =P,
2.Py>1atm

3.P <P,
4.P,>P,

Correct Answer :-

. P1>P2

Topic:- Botany

1) Name the microbe which produces nitrogen fixing nodules in the roots of non-leguminous plants. /

wq@mmmﬁmmﬁﬁﬁa@ﬁ?@mﬁﬁﬁwmm
Har gl

1. Anabaena / UATITUAT
2. Nostoc / ARCIH

3. Rhizobium / JgoNagH

4. Frankia / WG‘H

Correct Answer :-

¢ Frankia/ fb—ﬁ?&ﬂ

2) Name the experiment used to identify the tissues through which food is transported in the form of

sucrose solution through phloem. / wmmmwmmﬁﬁmﬁm%?
fore faran wmar 8 oM gRT weiTd & uread I YIS oY faaa & U S ugaman Srdn 2|

1. Plasmolysis / W



2. Girdling / HHREG YT
3. Potato osmometer / H@Wﬁ
4. Osmosis / URTERU

Correct Answer :-
« Girdling / HISSE YT

3) Name the saprophytic protists whose body moves along decaying twigs and leaves, and they form an
aggregation which may grow and spread over several feet during favorable conditions. /H?ﬁ\_:ﬂﬁ Uil

BT T Fa13d ST IR &= <gfay oiv ufral & a1y gerar g, 3R 9 U ayea=1 941d @ o
e aRfRufea) & SR iR 8 Todr ¢ 3R ®< pe # bha gPar 2|

1. Chrysophytes / EAERIL IR

2. Slime moulds / 3{AUH W
3. Dinoflagellates / as‘rhu%ﬁﬁ'c’
4. Euglenoids / ?I‘T“ﬁ:m-f

Correct Answer :-

« Slime moulds / 39U W

4) Give a reason for not using the insulin extracted from an animal source? / Y& U] da | e 1LY

g BT START 7 B & oI T FROT &2

1. All of the above / STYad G|

2. Insulin is produced in the form of prohormone only / R 37\‘1%1:[, m’s’”rqﬁ & ¥g H Idred Eﬂ?‘ﬂ %I

3. C peptide is not present in the mature and functional hormone only / b ¢ a'Eng, IRU® 3R HrRIfdS
g1 # SufRd 781 g &

4. Some patients were developing allergy or other types of reactions to the foreign protein only / R PS

R #, fora=it u1éie o forg Tersit o 3 UepR Uicifehany fesre g1 et &t

Correct Answer :-

« All of the above / G'qg?ﬁf gyt

5) In which ecosystem, the pyramids are NOT upright? / g wifvds |, firrfrs Ser A gia &
1. The pyramids of energy / Sl & RIS

2. The pyramids of biomass in an aquatic ecosystem / Tdh Seftg giids & Sta 7 & foRifirs

3. The pyramids of biomass / o9 A7 & foRifirs



4. The pyramids of number in grassland / 9THRcT T J=AT o ORI

Correct Answer :-

o The pyramids of biomass in an aquatic ecosystem / T Seftg s & Sta 7 & foRifirs

6) In artificial hybridization, the bagging technique is done to: /vﬁw PR T, AT aeie WI%I'Q
I ol §:

1. Prevent the caterpillar from eating it / S5 gl gRT GH Y §9H & g
2. Prevent the flower from drying / <l DI We[ BEEIECARIY

3. Prevent contamination of its stigma with unwanted pollen / FHfess BT 3raifesd IR & 1Y o P
RJep & fog

4. Assure the seed set / d1ol I @I SHTHIA HIT

Correct Answer :-

 Prevent contamination of its stigma with unwanted pollen / FA 5% b1 Sfdifeyd TRAT b 1Y Tgyur Dl

REEEANIY

7) In CAM plants, the first stable organic compound formed during the fixation of carbon dioxide

during dark reaction is: / 9 WY ﬁ, 3rda WW%WWWW%@W%&W
it gom vyw =t wrfe difte 3:

1. PEP / OIS0
2. Pyruvic acid / UIgSideh 3

3. RuBp / 3IRYTUT
4. Oxaloacetic acid / G‘hﬁ@m HiKT

Correct Answer :-

« Oxaloacetic acid / eha%&ﬁm 3R

8) DNA is more stable than RNA because of: / ?ﬂ"!:l'q 3'\‘1%7 PRI ARETAT Y 3iftre TR Eﬁ?ﬂ %:
1. All of the above / G’trija?r gt

2. The double helix structure / fg g>si31 {1 TR

3. The presence of thymine at the place of uracil / W & QM R YT o1 Iuffd

4. 2’-OH group present at every nucleotide in RNA / 3{RTAU " B q@raﬁa‘s’s R IUMRYT 2°-0OH dHe

Correct Answer :-

« The presence of thymine at the place of uracil / ZI,_:\"IﬁIT“T & Y R Y B ufufd



9) According to rivet popper hypothesis, the species that drive major ecosystem functions are

/ ¥de uTaR uReeuT & garfae, Tixiv s g1 niites waq Tad 8, 3 gl
1. obligatory species / G'FCIﬁETff iefis

2. key species / H¥H ieier

3. keystone species / PR W

4, alien species / 3R Wifie

Correct Answer :-

« key species / HH ieitef

10) Identify the pathways of movement of water in plants from the following. / fada e o oe Bt

Tfa & Al &) yganf-g|
1. Imbibition and diffusion / 3{d-XNY0T 3R faqTR0r
2. Transpiration and guttation / TS 3R ﬁg drd

3. Transpiration and evaporation / ARSI 3R AT

4. Apoplast and symplast / 3{UcIdh 3R Gefad

Correct Answer :-

« Apoplast and symplast / HUcIdh 3R Yefad

11) Restriction enzymes cut the strand of DNA a little away from the center of the palindrome site. This
leaves single stranded portions at the ends. There are overhanging strand on each strand called

as ./ Ufad e TaTgH, UIikisH ATse (FRasTed ®id) & % I YiEl gr SIT-T & 6qd 3t
T%lweﬁgmmwﬁﬁﬁs%ﬂ%lmmwmmﬁ%%
 pgadgl

1. Primers / UT3HY

2. UTR / G213IR

3. Templates / [ [

4. Sticky ends / JeTh BR

Correct Answer :-

« Sticky ends / e TH BR



Some plants produce two types of flowers such as chasmogamous and cleistogamous flowers. Select such

plants from the following examples: / P& e 3=fe el siir Glﬂ?ﬁw RIS & TR &
T SaTied Rd & | 13 Igreron & | ¥4 e gfie:

1. Commelina, Arachis /ﬁﬁ?ﬂ%_*ﬂ, Qﬂm
2. Oxalis, Commelina / Gﬁﬁm, Eﬁﬂ?ﬂg:ﬂ
3. Viola, Solanum /aTm?IT, T

4. All of the above /B’crﬁaamﬁ

Correct Answer :-

« Oxalis, Commelina / afaﬁm, Eﬁﬁ?ﬂg:ﬂ

13) B. thuringiensis forms crystal proteins which contain a toxic insecticidal protein. Why this toxin

does not kill the bacillus? / & YR=TI7U1&w, Twiesw M =TT 8 forad snfawerg Ftearia
WA IufRd 5T 31 7% Snfaw e ®1 i 181 ARarn

1. It cannot kill the bacteria as it produces anti-toxins / g \_rﬂa]'q[ P! 6] AR Adhal Hifd gg Sifafds
RRIESEGIN

2. None of the above / BTI'{:IER‘[ e ﬁ's‘ '_‘|_Eapf|
3. The toxin exists in an inactive form / 3TAY AfSFg =g H ﬁﬁl:c‘{ Eﬂ?ﬂ %I
4. The bacteria is immune to the toxin / \_SﬂaTUl 3fay T gfaRfera m %I

Correct Answer :-

« The toxin exists in an inactive form / 3{TdY fATSHT = H W g gl

14) Toxicity levels of micronutrients can be found out by deficiency of another element. For example: /

G&H NUD| & fIuTeadr R, 31 I Bt B R U1 T A GHd & | STV & g

1. Excess of manganese is found by deficiency of iron, calcium and boron / Sffafad 'a'TIT'ﬂGL Fﬁ_s', PRy
3R IR B HH GRT UdT TR S Fhell 5|

2. Excess of manganese is found by deficiency of iron, magnesium and calcium / ffafad 'a.TIT‘ﬁ\_FL Fﬁ_s',

AR 3R Sfekry o1 HH gRT Ul o S Il 7

3. Excess of manganese is found by deficiency of iron, copper and zinc / ffafad ﬁ"rl:ﬁ\_ﬂ, Fﬁ—ﬁ', T 3R ST
@1 BT GRT U TR o el B

4, Excess of manganese is found by deficiency of iron, boron and zinc / sfaRed ﬁ"'l:ﬁ\_ﬂ, ?’ﬁ—s', SR 3R ST
& HHI GRT Ul TR o Febell & |

Correct Answer :-

« Excess of manganese is found by deficiency of iron, magnesium and calcium / 3ffafad ﬁ"T:ﬁGL ?‘ﬁ_s',

AR 3R HiergH Bt HH gRT UdT T8 o Jbal g




15) Fruits which develop only from ovary after fertilization are called WA AL R K oI

Paq SR A RPRAd s, Fgan 3|
1. apomictic fruits / STSHAD B

2. true fruits / el Hd

3. parthenocarpic fruits / TeTte Ba

4. false fruits / o el

Correct Answer :-

« true fruits / I B

16) In some plants such as Rhizophora growing in swampy areas, many roots come out of the ground
and grow vertically upwards which help to get oxygen for respiration. Such roots are called

3Tcd &3 W I 9Td ASSIERT S 5 Uil |, aga;ﬁa%aﬁ#ﬁwan?ﬁ%sﬁ?mﬁ
wgﬂﬁaﬁ%ﬁm%ﬁmmmmﬁﬁmm%lma@aﬁ_w
ST 8l

1. pneumatophores / ITT-JI
2. prop roots / U1 S8
3. none of the above / G'mjaa K| ﬁé :Tébf

4. stilt roots / S[AEIH HA

Correct Answer :-

« pneumatophores / ]ITT-J

17) Mention two amides that are found in plants which form the structural part of proteins. / 33[ THISS
SeAad I St 39 Urel & Ui A1 § S NS BT IRAATHS YR T1d B |

1. Pyruvate and glutamate / Hlsbad 3R ‘Q;]\CIJ:IC

2. Asparagine and glutamine / TR 3R T[CTHIgA

3. Aspartic acid and glutamic acid / TIicd 3R 3R W A&

4, Ketoglutaric acid and aspartate / m 3T 3R THIce

Correct Answer :-

« Asparagine and glutamine / TR 3R TQICTHIRA




If a fruit is having 20 seeds, the number of eggs in the ovary and the number of male gametes in an

angiosperm flowers must be: / gfe Tt wa H 20 §IS1 %., oY srsTRra # 3isY $t w@ iR &nqaa%ﬂ
et & Y 8w g AR

1. 20 male gametes and 10 eggs / 20 W 3R 10 378

2. 20 male gametes and 20 eggs / 20 W 3R 20 3T

3. 10 male gametes and 10 eggs / 10 W 3R 10 3T

4. 10 male gametes and 20 eggs / 10 W 3R 20 38

Correct Answer :-

« 20 male gametes and 20 eggs / 20 YTHD 3R 20 S

19) Which technique is used to prove that oxygen evolved during photosynthesis by green plants come

from water and not from carbon dioxide? / ﬁ??ﬁﬂﬁﬁﬁﬂ?ﬁ@ﬁﬁ%ﬁ?ﬂﬁﬂﬂﬂm%ﬁ?
T Ut GIRT W T=T HRAYUT & SR fAadl siTRiTe od & 31t 3 A1 fop wra1 s1g8iiaarss A7

1. Spectrometry / @Eﬁ}lﬁﬁ

2. Radiography / fafaxoft femror

3. Radiocarbon dating / fsqpIa HraFgRo

4, Radio isotope technique / fafervor TuwTie dae-ie

Correct Answer :-

« Radio isotope technique / fafevor T ae-ie

20) Which taxonomy is based on evolutionary relationship between the various organisms and assumes
that organisms belonging to the same taxa have a common ancestor? / P14 It afifl i sial &
T faerita day wR smuria 8 iR A 8 f 39 ol § Wefta Sftal &1 am=a gd giar 82

1. Numerical taxonomy / TS afifet

2. Chemotaxonomy / Tqrafifet

3. Cytotaxonomy / CAIREIGIRE]

4, Phylogenetic classification system / W@Qﬁﬂ’q Fffep=ur yomTeRt

Correct Answer :-

« Phylogenetic classification system / \_rl'lﬁlgc_rﬁ'q giffeur gomeit

21) Which of the following secondary metabolites are produced by plant and act as toxins in host? / o

# A o1 A fgdias Tarray, MY gRT Iwnfed gid & 8k Ava § iy &t ave &1l @vd 82



1. Monoterpenes, diterpenes / AU, SgcRuA
2. Morphine, codeine / IIW, CARIE]

3. Arbin, ricin / GH'%:L TIEf@I:[

4. Vinblastin, curcumin /W@ﬁ W&H

Correct Answer :-

o Arbin, ricin / 3fee , TIE@F[

22) Which one of the following is NOT a chromosomal disorder? / Ffaaddsad TP 'ﬂ'U'I'ﬁ?ﬁ
TR TE] 32

1. Down’s syndrome / SI3 ﬁf@’q

2. Phenylketonuria / Wﬂﬂg

3. Turner’s syndrome / TR ﬁl@'ﬁf

4. Klinefelter’s syndrome / g thee? ﬁl@’q

Correct Answer :-

« Phenylketonuria / PURREIEREH

23) Which one of the following is NOT an example for secondary succession? FEddsaar U

ferdTae srgsparor & forg Sqrevor 78 &

1. Burned or cut forests / ST¢1 AT e BU ST

2. Lands that have been flooded / 31[&[ S ST §
3. Newly created reservoirs / 1d fAftfa Semer

4. Abandoned farm lands / URETd HIH Hﬁ[

Correct Answer :-

« Newly created reservoirs / -1d fAftfa Semer

24) Which one of the following is a chemically modified sugar? / g a3 e @ U IHTId:

ST BT 2

1. Chitin / BT

2. Cellulose / HIA

3. Inulin / Sf¢H

4. Glucosamine / TCeh IITHTSA



Correct Answer :-

+ Glucosamine / W

25) The two elements in plants which are associated with certain enzymes involved in redox reactions

and are reversibly oxidized are . tﬁ’iﬁﬁa ad Sy ifyfsear & wnfare PO gﬁﬁtﬁ
q Hafd § 3R Sopfiaeu § sifeftpd frd wia §, 9 gl

1. copper and iron / PR 3R ?‘ﬁ_s'

2. manganese and molybdenum / TS 3R AfcesH
3. chlorine and copper / FARM iR dH

4. zinc and boron / ST 3R FRIA

Correct Answer :-

 copper and iron / PR 3R ?‘ﬁ_s'

26) The grafting in monocot plants are NOT possible because: / Qaﬁﬁm e A Aot YHa i

g1 it

1. Monocot plants are generally too thin (girth) to graft / LCEISEE T YT FAH 1L & fo aifa
gad (aRAS) B §

2. They do not show secondary growth / CRINI Q@ :rEﬂm %I

3. There is no cambium / sﬁﬁ %@uﬂ 7‘|_E?f _Eﬁ?ﬂ %I

4. The vascular bundles are scattered / a%w SSd UbIul Eﬂ?f %I

Correct Answer :-

o The vascular bundles are scattered / ?ﬂ%ﬁ dsd EIH%UT aﬁ %I

27) The complex tissues present in gymnosperms are elongated or tube-like cells with thick and lignified
walls and tapering ends and help in water transporting are ./ o A SufRye wifed Sae
Siftfa a1 ega-o gid & 9 S99t At ud w1si fUfQ ofik YeTeR RN gid § ok oia uRaea #
AGEHYd e, 9 7l

1. vessels / aﬁ%wz

2. tracheids / aﬁg

3. xylem parenchyma / SIICTH aWIETIT
4, xylem fibers / SIIgCTH T‘lﬂ

Correct Answer :-



« tracheids / CHIS

28) The catalysts which hasten the rate of given metabolic reaction are proteins and these proteins with

catalytic power are known as i mﬁﬁﬂi@muﬁm%aaﬁwéﬁ%ﬁ
WIEH & 3R & IR 1 i ardt W= FEAd G

1. enzymes / U~IISH

2. products / 3T

3. substrates / 3{dIX

4. co-factors / dg-hRP

Correct Answer :-

« enzymes / U~lIgH

29) The RNA polymerase II transcribes which precursor of mRNA? / 3IRTUAY UiferARy II, mRNA &

S Y g} BT ufaees ST 82
1. tRNA

2. 5stRNA

3. hnRNA

4. snRNA

Correct Answer :-

« hnRNA
30) The synergids have special cellular thickenings at the micropylar tip called , which plays
an important role in guiding the pollen tubes into the synergids. / deId Pifrere o FeaH

areht divisgrl fou w ARk w1 wre g 8, 5t W ARl #) weTa BiRkmwrei §
Waferd ® ¥ Wag Rl 2

1. egg apparatus / 378-3TH I

2. filliform apparatus / fUFETIH JUHRT

3. central cell / HET HIFRIPT

4. antipodal / UfqedTid

Correct Answer :-

« filliform apparatus / foreiIH IudHl



31) The annual net productivity of whole biosphere is 170 billion tons out of which the productivity of
ocean is only 55 billion tons. Give the most appropriate reason. / @' Wi Hed & aiffe Ae IATrgHdr
170 3R9 1 8 ORI & WeIR 3t SATHdT $ad 55 3R e 8 | Iy IUYad PR |

1. Lack of dissolved carbon dioxide / faefi= sbTei= 3133{\@133 D[ HI]|
2. Due to salt content (salinity) / CTdUTHTAT (ARTU) & HRO|

3. There is less vegetation inside the ocean / HH% &% R A gaafd %I
4, The availability of sunlight is low / ﬁﬁf D1 AT DI IUAKIAT HH %I

Correct Answer :-

« The availability of sunlight is low / I B! IR B U HH g |

32) The edible part of the coconut is ./ ARG BT @T_] HTT %I
1. seed / SISl

2. cotyledon / CISLES

3. endosperm / HUTChW
4. nucellus / SIS H

Correct Answer :-

« endosperm / HUTChW

33) The thousands of genetically identical plants produced by micro-propagation are called .

GeA-Ua e gRT ScTied AHaiRe TUAJAEUEIARI WY FHgdad ol
1. explants / HaArdd

2. soma clones / BT G

3. somatic hybridization / BTIDH HHRUT

4. somatic hybrids / PHIAD Jh

Correct Answer :-

« soma clones / BT I

34) The enzyme catalyzing the linking together of two compounds, e.g., enzymes which catalyze joining

of C-0, C-S and C-N bonds is called ./ Sl Gifre) B Te-Teaudt &1 IANT $= T8 391,

3TV & T, 98 STSH S C-0, C-S 3R C-N 3Tae & J1 &) IART FRaT 8, FHgard
|

1. Hydrogenase / Elgg”%ﬁlﬂ



2. Hydrolase / Bﬁ@ﬁﬁ
3. Lyase / SIPR

4, Ligase / T‘ﬂiﬁﬂ

Correct Answer :-

« Ligase/ SIEUES]

35) The ligation of the alien DNA is carried out on which one of the following genes in the vector during

rDNAtechnology?/mﬁ?ﬂ&ﬁﬁ%aﬂqmﬁm@ﬂwmﬁmﬁ?ﬁ@mw
i TR foar <irar 82

1. Recognition sites / \3‘|ﬁ-|3|'|7'f EN)

2.Rop/ T

3. Antibiotic resistance genes / Q_Cﬂa@% gfeRIY A
4. Ori / 3R

Correct Answer :-

« Antibiotic resistance genes / Qﬁa@% gfeRIY A

36) The sickle cell anemia is an autosome linked recessive trait caused due to a mutant gene by the

substitution of glutamic acid in the 6™ position by: / G/ PIRTPT SR (ﬁl'aﬂ Jd Q'ﬁlﬁl'ql), 6%
RIT H TS 3 & UfARITYT §RT IART! oiiq & HRUT §T AT Tad UHT T&I0T 8-

1. Glutaric acid / W STk
2. Proline / TIci

3. Serine / TR

4. Valine / afer

Correct Answer :-

. Valine / aferH
37) The additional 12 ATP required in C4 pathway is: / C4 ARt # Smawge sfafvad 12 Tt gidt %:

1. Due to transportation of C4 acid from mesophyll cells to bundle sheath / ufredae SiRemTe o Udi=Scq
H C4 3% & YRAg b HRUI

2. Due to transportation of C3 acid from bundle sheath to mesophyll cells / Yelled & Y gofredias SifRremrai
T C3 31 & URAg o HRUI

3. Due to regeneration of C3 acid and CO, from C4 acid / C4 3 €3 3 3R CO, & Yo d- & HRUI



4. Fixation of CO, in the presence of PEP case / Uit gre &1 IufRufa o CO, &I Ay

Correct Answer :-

« Due to regeneration of C3 acid and CO, from C4 acid / C4 3{&] T C3 3T 3R CO, & Yo d- & HRUI

38) The living state and metabolism are ./ Sifad srawT 3R IuTU=Yg %I
1. interchangeable / améaﬁ

2. synonymous / g

3. constant / TR

4. irreversible / &Wﬂﬁﬁ

Correct Answer :-

o synonymous / JOiATH

39) Who has tried to put prize tags on nature’s life support services? / e Wﬁl’ CARCICER RO
Ja13il TR RIBR ST T Bt BRI B 82

1. David Tilman / Sfd€ feaaq

2. Robert May / e H

3. Robert Constanza and his colleagues / & wTrH?H\fll 3-ﬁ? 3% ﬂ%ﬂv_ﬁf

4. Paul Ehrlich / UTd Ugfele

Correct Answer :-

« Robert Constanza and his colleagues / JTSC PI-FeTvT 3R 3P TgHHf

40) What are the functions of essential elements? / SITAYUP dedl B UBTI T %'?

1. Essential elements act as components of biomolecules only / 3TdRYD dcd Had @a-&rugah &GP B

TWE B Hd g

2. Essential elements are components of energy related chemical compounds only / AP dcd Had ol
Hefd Temfe AfD! & geh &

3. Essential elements activate or inhibit enzymes only / 3{TdRYd dcd Had sﬁlﬁﬁf P! i B % Ydl
AHd Bl

4. All of the above / ITYad Jaft

Correct Answer :-

« All of the above / ITdad Jaft



41) What makes the process of decomposition rate slower? / qUc q¥ 31 uferar & e = F9TaT

?

1. 0, availability is more / O, STARIAT U & |

2. Lack of bacteria and fungi (decomposer) / \_rﬂ_dTUl R HaH (3{UYcdh) Hl HHI]T|

3. Detritus is rich in lignin and chitin / 3{UXq fafiE sk m H TJH& %I

4, Detritus is rich in water soluble substance like sugar / U DI Wi ol faag W"’ﬁﬁ TJH& %I

Correct Answer :-

« Detritus is rich in lignin and chitin / 30RG AR 3R HTSfca H 99< 5

42) What is the source for the complementary RNA in the process of RNA interference? / IRTATY

BT B Uiehar § R RTAT & I Hia w1 82

1. All of the above / SUgad Jaft

2. Transposons only / Had gi{-l qIoTH

3. Mobile genetic element only / Had =i &naa'm dd

4, Infection by virus having RNA genomes only / $Had 3RTT SHH gad IR gIRT HhHUT

Correct Answer :-

« All of the above / ITdad Juft

43) The place where wild animals are Kept in protected environments under human care and which enable us to
learn about their food habits and behaviours, is known as ./ dg T GI'{T'\‘rmFﬂ CIECRECIR RG]
SEHTA & St ERFE qrararor # 3@ ST 8 SR St g6 I@1 HIeH $1 3Tgd] 3R FaeRI &
IR ¥ I & g gvg T R, STl g |

1. Museum / GUgT

2. Zoological park / o1for Iua=

3. Botanical garden / GGfd I
4. Herbarium / UTcUIcrd

Correct Answer :-

« Zoological park / o1for IUa=

44) Which one of the following is NOT an Archaebacteria? / g A ST Th AT FﬂaTUI qﬁ%"
1. Halophiles / <IdU[ Rli|



2. Thermophiles / ST
3. Methanogens / EIDEISE]
4, Cyanobacteria / RIBEICE IR

Correct Answer :-

« Cyanobacteria / Irgieac A

45) Which one of the following statements is INCORRECT with regards to lenticels? / araesll & ey |

5 # & 319 91 T& $YF T 77

1. They play an important role in transpiration. / J AT Teyoi | faRre 'ﬁ[&lﬁ ISHIG] % |
2. They are structures on the bark of the trees. / G a@ﬁ I DA W WTQ %I

3. They provide for gaseous exchange. / T faffma & f%‘l'q &M Hd % |

4, It is a photosynthetic tissue. / g T THIRERAY Had %I

Correct Answer :-

« It is a photosynthetic tissue. / g Y TH RN Sl %I

46) Conjugation, transduction and transformation are different methods of: / W, URITHT 3R

wuiaRur sae! faftr faftmi g

1. Asexual methods of reproduction / ST o1 3aifie faferar

2. Genetic recombination or sexual reproduction in bacteria / Saifear & W ‘EI‘,:I'EITTTF[ 1 e S
3. Genetic engineering methods / S{Iﬂam it fafdar

4, Reproduction in protists / gronal § Jer-

Correct Answer :-

« Genetic recombination or sexual reproduction in bacteria / Saifear & W ‘EI‘,:I'EITTTF[ BIRSIRCACEE]

47) Breeding crops with higher levels of vitamins, minerals, higher proteins and healthier fats to improve

public health is knownas______ /Wﬁgmmﬁﬁﬁ?ﬂaﬁ%ﬂwﬁwﬁamﬁmﬁ
ﬁaﬁq,aﬁﬁ,ﬁmﬁﬂaﬁvmwaﬁwwﬁ@ﬁ, Feai gl

1. Bio-fortification / @a-m
2. Bio-nutrition / SId-UTy0T
3. Bio-magnification / -3

4. Micro-propagation / ﬁ&ﬂ-m%&f



Correct Answer :-

« Bio-fortification / Sid-faredl

48) rDNA cannot pass through the cell membrane of the host because: / Gﬂ?@ﬁ'w, 3nfady &1 HifRrebT
freett 9 wifva =7 8) avar wife:

1. Insertional inactivation / 3G TSR

2. DNA is acidic in nature / @Q:TQ Wﬁf H g Eﬂ?ﬂ %I
3. DNA is a hydrophilic molecule / C‘ﬂ'@t{ TR 3{YJ %I
4. It has an alien DNA/WW@W@W%I

Correct Answer :-

« DNA is a hydrophilic molecule / SITAY SR \}I'Ul%l

49) The chilly variety ‘Pusa Sadabahar’ is resistance to which of the following disease? / IEGIE] Udh

e o weesr A # A ford A &Y uferias 2
1. All of the above / G'qg?ﬁ gt
2. Leaf curl only / mqﬁw

3. Chilly mosaic virus only / Had faeh Hividh arRY

4, Tobacco mosaic virus only / Had SEIER HISid IRy

Correct Answer :-

« All of the above /G'Clg?ﬁ gt

50) If the distance between two consecutive base pairs is 0.34 nm and the total number base pairs are

6.6x109, calculate the length of DNA. / Tf¢ &I SPHTT &R® g‘m‘r & g Bt §'\ﬁ, 0.34 TR B 3R
T BT &RP T 6.6x109 B, <t SITT Bt A5 URBId Do

1. 2.12 meters / 2.12 HIcR
2.2.22 meters / 2.22 Hiex
3.2.20 meters / 2.20 HicX
4.2.02 meters / 2.02 HieX

Correct Answer :-

e 2.20 meters/2.20 iR



Topic:- Zoology

1) A father transmits his X chromosome to his ./ T® faar x W G| o FaTfed Har
g

1. son only / W‘Eﬁﬁ

2. both son and daughter / G Td ‘fﬁﬁ IR

3. neither his son nor daughter / -1 ar LERCK] Bl Eﬁﬁ )
4. daughter only / FHad Eﬁﬂ o

Correct Answer :-

« daughter only / FHad Eﬁﬂ o

2) Cerebellum controls the reflex function of: / GIHFI'%IW, A @t ey forar &Y fHrifa e

1. Skeletal muscles/ HebTd D FIAURET
2. Sense organs / Eﬁ@ﬁ

3. Smooth muscles/ i1 ArGUREAT

4. Internal organs / fiaRkes 3

Correct Answer :-

« Skeletal muscles/ PBTA Bt HIHUR™T

3) Expand D and C. Which is a method of medical termination of pregnancy? / D €d C BT ICESLEG]

Y gaTg, St THTawT $1 fafeen sty ot we fafu 32
1. Dilation and cutting / 313@’-‘217‘[ QTS’ HicT

2. Dilatation and curettage / 313@%‘«”7{ ug Wﬂ

3. Dilatation and cancelling / 3’5@%-‘21:[ ue 39—&1‘%111

4. Discarding and clearing / %HW%‘T us Wﬂ’qﬁ'ﬂ

Correct Answer :-

« Dilatation and curettage / SIRUCRH TS Wﬂ

4) Expand SCID: /m\?ﬂgﬁﬁﬁ?ﬁ'ﬂﬁ
1. Secondary Condition of Immunity Disorder / b e BhalH 3 @ﬁa %ﬂ&ﬁ@h



2. Secondary Condition of Immunodeficiency / Hdex| HaIRH 3Hh Ejﬂfﬁ%ﬁm:\‘:ﬁ

3. Severe Combined Immunodeficiency / TifgR C2SIES] Ejﬂfh%ﬁ?m
4. Severe Combined Immunity Disorder / HifaR wEe Eﬂlﬁﬂ %H\#I%T

Correct Answer :-

« Severe Combined Immunodeficiency / TifgR E2SIES] Ejﬂ,fﬁ%ﬁ?w

5) Nitin is over sensitive to bee sting and it leads to anaphylactic shock. Which of the following is NOT

an allergic manifestation that he might have showed? / IGIGG] qw »EP P UM ‘ﬂﬂﬁnﬂa % K|
3 diamfgar e meara $t 3R & Sirar 8 1 g # @ H1-3t at vesif @ ity 48 § o
YD1 UdT TITIT T Heb?

1. Rapid heart beat / gad P ol YShq

2. Increased blood pressure / XaddIU dg-l

3. Swelling of the face and under eye puffiness / a@% 3R sial & =9 ol
4. Rashes/redness on the body / IRR W AP / AT

Correct Answer :-

o Increased blood pressure / YdddIY dg-l

6) Point out the misconception regarding the transmission of AIDS. / T§H & Uyur gaeht @ yRon
Y gamd|

1. Sharing hypodermic needles / UIdp ﬂ%’q}[ DI IR BT

2. Saliva, touch or non-sexual contact / I}, et ar ﬁ?—tﬁ:l Tdudh

3. From infected mother to child or through breast milk / FehTod AT BT D [ & W 9

4. Blood transfusion / ¥dd - HTYTH

Correct Answer :-

« Saliva, touch or non-sexual contact / ¢IIR, et ar ﬁ?—tﬁ:l Tdudh

7) Name the phenomenon in which an animal drops off its body part as in lizard, which drops off its

tail. / I UNEET BT ATH Td1Y, FORIH T ofia 3u9 IR & 31T B SIS a1 8, o fb fsumett
T B B! BYs S B

1. Epimorphosis / SRPUTIRT mﬁm
2. Morphallaxis / 30T (q'\lﬁﬁfa:lﬂ)
3. Autotomy / Widwsad (m



4, Compensatory hypertrophy /Qﬁw C‘HI(}‘lq S (aﬂ:[atl@éj Slsqqajcﬁ{h
Correct Answer :-

« Autotomy / Widwsad (Giﬁaﬁ)

8) Name the kingdom which is eukaryotic, unicellular and with simplest type of locomotory organs. /

gHNAIfeH, THHIRID I Td TTHRI YHR & Ta-T ST 91e ST BT 19 gard |
1. Fungi / ®odh

2. Monera / AFRT
3. Algae / qard
4. Protista / Uife et

Correct Answer :-

« Protista / Mfe¥eT

9) Name the excretory product that is formed by the breakdown of haemoglobin. / ﬁnﬁ'@ﬁﬁ &

e gry fAfdfa SSIf IuTe &1 91 Ida1d|
1. CO, and water/aﬂéq-@g-m@w

2. Uric acid / Q:RT?F SR

3. Urea / ZI,_ﬁTIT
4, Bile pigment / O aufe

Correct Answer :-

« Bile pigment / O aofe

10) Name the innermost layer of the stomach. / UT BT izt URd &1 A1H ET'IT&I
1. Submucosa / HY: m

2. Muscularis / U=}

3. Mucosa / mﬁfﬁim

4. Serosa / RIS

Correct Answer :-

« Mucosa / mﬁfﬁim



11) Name the immunoglobulin antibody that is present in milk and colostrum, which gives immunity to

the new born. / 4 Ta¥ HIaReH # IR sRIANIg o ufavelt &1 A qart, Sit awim gy &1
TR UgT= ST 3|

1. IgD
2. IgM
3. 1gA
4. 1gG

Correct Answer :-

o IgA

12) Name the 1% organ to develop in a foetus. / b YUT ¥ fapRE Eﬂﬁ ara tl?ﬁ ST BT AH a?lTE’I
1. Heart / a4

2. Notochord / Y8R{\]
3. Brain / ATKISH

4, Skin / 9l

Correct Answer :-

« Notochord / 8RS

13) Why gene mutation is also called as 'point mutation'? / ST Sfad &1 'ﬁ'ﬂ IAfad &
HET a1 82

1. A gene is located at a fixed point on a chromosome. / Udh Ulnl"l, Ueh TUTHA YR Uh GIEG ﬁ@ R fRya Bﬁ?ﬂ
gl

2. Error occurs in the sequence of nucleotides. / Wﬂg—é & S{IhH o ‘gﬁ ITF g B
3. Mutations can be seen phenotypically. / IRl &) gHAe0 g =T F ST off b %I
4. It points out the copy error. / g gfafafa ‘g’i? qdrat % |

Correct Answer :-

« A gene is located at a fixed point on a chromosome. / Y& \_rﬂ:[, Udh TJURA U Uch BIEG ﬁ@ R fyq g‘]ﬂT
gl

14) Embryo reaches the uterus at the stage. / YUT TROT § UM 96 ggddl gl
1. Gastrula / ilﬂgal



2. Blastula / TRl
3. Zygote / |3‘i|€
4. Morula / AREd

Correct Answer :-

« Morula / AR=AT

15) An animal has an anterior end and a posterior end. Its sides cannot be identified. What kind of
symmetry does it possess? / U Si1d ¥ b Ydad! 3fd TS TP YR 3id giaT 8 | 3APT Yulraii ot
TSI g1 B ol APl g | §T8 [ YHR B FHfAfd gielt 32

1. Radial symmetry / 3R qofffd

2. Bilateral symmetry / feuefta Tafafa
3. Biradial symmetry / fg -oR gufarfa
4, Asymmetry / St

Correct Answer :-

« Radial symmetry / 3R gofffa

16) Flame cells in platyhelminth is mainly concerned with: / Wt | warer sifkreren I qCT
U 9§l &

1. Excretion / BT\EWT:[
2. Respiration / [
3. Circulation / GRETAT

4, Temperature regulation / dTUHIT IBREE

Correct Answer :-

« Excretion / BT\‘:W&T

17) Conjugation, transduction and transformation are different methods of: / FgTH, URIHA 3R

UiRaed §HS S-S &
1. Asexual methods of reproduction / Ul It 3raifires faferar

2. Genetic recombination or sexual reproduction in bacteria / GﬂaTUlGﬁ | eraaﬁfﬁ T‘I’CITGFT 31yar dfids
SEEI

3. Genetic engineering methods / \’rﬂﬂam SOt fafey
4. Reproduction in Protists / gohal § Jer-



Correct Answer :-

« Genetic recombination or sexual reproduction in bacteria / GﬁﬁTQI\’:ﬁ | &naaﬁm Q:I'QT\_EFT 31yar dfids

18) Suma uses Copper T as an Intra uterine device to prevent pregnancy. Choose the correct mode of its

action: / JHT, THURU H A T4 & T HTUR & T TGN T ST e fEarsa & =u & st
21 3 et Frdfafy &Y g

1. Cu ions suppress sperm motility / DR &Ww&ﬁ?ﬁ Tfo=fiear &1 gar <t g |

2. Enhances the production of male hormones / ¥% gTHM & JadTed & Q@ MGG
3. Kill the sperms / W\?ﬁaﬁwmﬁ%l

4. It blocks the entry of sperms into the fallopian tube / g W\?rﬁ ! fEaarg! et & U= &= 9 At
gl

Correct Answer :-

o Cu ions suppress sperm motility / PR &Wweﬁaﬁ IRRIRNGI a?ra‘mé‘cﬁ%l

19) Identify the tissue that will NOT regenerate in mammals. / 3 S dd P Uga B forg®T
TATUTRET # gToga e ghm|

1. Liver tissue / phd HdPh

2. Mucous membrane of stomach / U€ &1 TSAT %Iﬁﬂ

3. Brain tissue / AKI%h SHdd

4. Skin layer / ddl Ud

Correct Answer :-

« Brain tissue / ARISH Jdd

20) Identify the cells that produce antibodies. / 3 IR BT qgiﬂﬁ <1 ufaeft o1 fAwtor &va %'I
1. Plasma cells / TIIGHT aﬂﬁw

2. Helper T cells / HgldP [LEIEEIY

3. Cytotoxic T cells / PIRHT 3MTfaS ¢ m

4. Macrophages / §e H&PIT]

Correct Answer :-

« Plasma cells / ®ITSHT m



21) Identify the mismatched from the following. / fFafafeaa 9 3 a8« o ggafAu|
1. Beta cells — Insulin / &TcT W-ﬂ%ﬁ

2. Pancreas — Both exocrine and endocrine / SIRIY - a%’wa? T4 3id AT Eﬁ:ﬁ

3. Alpha cells — Glucagon / 3{ethl DIRBR- RN CANE]

4, Delta cells — Enzymes / Sl aﬂfifmrﬁr-qmsﬂ

Correct Answer :-

« Delta cells — Enzymes / Secl HIIHTH-TSSH
22) Identify the kind of coelom in nematodes. / APTH H W[ET & YHR UgAI|
1. True coelom / IRATd WG

2. Haemocoelom / W
3. Acoelom / W

4, Pseudocoelom / W%EF[

Correct Answer :-

« Pseudocoelom / W%H’T[

23) Lactobacillus appeared violet after being subjected to Gram staining. What kind of bacteria are

they? / U SRS | ToRA F 916 A [aRRrerd, ST foars Sar 21 3 fra voR & i &2
1. Halophile / @191 X1t

2. Thermophile / STIATIOT

3. Gram -ve / UTH-ve

4. Gram +ve / UTH+ve

Correct Answer :-
e Gram +ve / UH+ve

24) Dynamic rearrangement of the blastomeres lead to the formation of a 2 layered ball of cells

cauegﬁ_a.%_/mﬁw%mgqﬁaw%maﬁﬁmsﬁ%mﬁﬁ%ﬁﬁwﬁm%m
o |

1. Foetus / YUT
2. Gastrula / ﬁ%\?ﬂ
3. Trophoblast / CIhISIRE



4. Blastocyst / m
Correct Answer :-

« Blastocyst / m

25) Choose the most appropriate reason behind the statutory ban on amniocentesis: / m W

dure yfady &\ Ted sfaa srorgA:

1. Promotes female foeticide / U1 YUT g1 G deldI a_('ﬂ%l

2. May lead to infections / HshHU BT HRU &1 ThaT g |
3. May interfere with foetal growth / YT & faT & SRy VeI R UHhdl 7|
4. Amniotic fluid may leak / THAIfCH Ta &1 19 &) IHdT B |

Correct Answer :-

« Promotes female foeticide / =T YUT eI B deld] %?ﬂ%l

26) Bacterium that causes cholera is slightly curved and resembles a 'comma'. To which of the following

does it belong?/awﬂﬁuwvﬁ%mmwaﬂ%?,a?%ﬁ%wﬁ%%aﬁ?W'm'ﬁﬁ
fewa 81 gg Fafafaa @ 9 few wdfta 82

1. Bacillus / §STU[

2. Cocci / m
3. Vibrio / Tafsra

4. Spirillum / Y SToRUReH

Correct Answer :-

. Vibrio / fafsat

27) Substitution of one nucleotide pair will lead to the Kkind of mutation called ./ db mﬂ'ﬁ;@'

T $T URRITI, TP o8 & SARadT ST PRUehm, o seremarsl
1. Point mutation / ﬁg IaRacd-

2. Chromosomal aberration / W ICERE]

3. Genomatic mutation / STHIAICH IARATT

4. Frame shift mutation / ToH RT0¢ IR

Correct Answer :-

. Point mutation / f4g IR



28) Human liver is located in the ./ HIFId 9P d A fRa Eﬁ?lT % I

1. right upper part of the abdomen, just below the diaphragm / Ucdh E{Tﬁ SN YT, STIWTH & Bl Ard
2. right upper part of the abdomen, just above the diaphragm / U & gl SHU T, STIWTH & 31h HUR
3. right lower part of the abdomen, just above the diaphragm / U & 94 SHU T, STIWHIH & 31h HUR
4, left upper part of the abdomen, just below the diaphragm / Jcdh aT\@ SR YT, STAHTH & ol Ard

Correct Answer :-

« right upper part of the abdomen, just below the diaphragm / Uc & el S N, STA%H & 31 -1

29) In honey bees, male individuals arise parthenogenetically. What does it mean? / R[gq Hg[:ﬁ@ﬁ ﬁ,

oY AYHTE! A THo-1 U J I g1 & | 391 &1 3 @2

1. Egg develops without fertilisation / 38 fom1 fveH & fasRid gl %I

2. Zygote undergoes meiosis / JTHS 3 m ICEISEK ﬂ\_rl??f gl

3. There is only partial development in males / Y2¥ HW T dhad RS fde™ Eﬂ?ﬂ %I
4. Fertilised egg develop into male / JoU HW T fufa ofs fawRid gl %I

Correct Answer :-

. Egg develops without fertilisation / 378 foFT fA8=H & fawfid 1d €1

30) I met a child who is short statured with mental retardation. His mouth is partially opened with
furrowed tongue. His palm is broad. What kind of disorder it could be? / ﬁ'@ﬁ T= 9 firer <t gl
Hedl & ITY BIS B¢ BT 3 | ITDT Yg 3N FTU A a1 TaH ity RieeR 81 @] gl DSt
21 7% 59 o o1 e f v g2

1. Down's syndrome / SIS ﬁl@’q

2. Psychomotor disorder / qEH IR fadR

3. Turner's syndrome / Eﬁﬁr@ﬂ

4. Klinefelter's syndrome / mﬁl@'ﬁ

Correct Answer :-

« Down's syndrome / SIS~ ﬁf@’q

31) Complete linkage is exhibited when: / Q0T Tgadar Uefid gicht g 9a:
1. There is crossing over / UXTUX fafrmg ﬁl



2. The genes for a particular character are on the same chromosome / T faRiy sffireeror & m \_rﬁ:f, A
T R e o

3. The genes are present on the homologous chromosomes / ST U SN OR rﬁﬁ:c{ G %I

4, The genes are on the same chromosome and are placed close together / S Tdh _GQT HIARIH TR Ew':]?f % 3ﬁ?
THITY T 1A 3 |

Correct Answer :-

o The genes are on the same chromosome and are placed close together / S Uh Epf HIHNH TR @ﬁ % Gﬁ?
THTY T 1A g |

32) Blood is collected from a large vein during blood donation. What can be the possible reason? /

TFIGH & SR TP T3t FRIRT A Yo T faran ora 8 | ST JUTfId HRUT 1 81 9Phdl 82
1. Venous blood is free of O, / FRRTOR® Yo m%mél
2. It is easy for the nurse/ﬁﬁ%ﬁfq W@Tﬂ%l

3. Arterial blood loss will be notably felt by the donor / FIfrcI GRT 41 Xad & HH &l oy ¥ g 9
Ty fobar Se|

4, Pressure in the vein is lesser, so less chance of blood seepage / fRRT H gard &4 gial %’, oo e e
T B HH YU G115 |

Correct Answer :-

« Pressure in the vein is lesser, so less chance of blood seepage / fRT H gard &4 gial %, oo e e
T B HH YU G115

33) Which is the longest part of the small intestine? / BT 3iid BT I TaT %WT Cack:|| %?
1. Caecum / PTUHH
2. Ileum / s’i%mtr

3. Jejunum / @@\T'IT[
4. Duodenum / _g"Gh@Fﬂ:f

Correct Answer :-

e Ileum/ s’i%mtr

34) Which of the following is the most appropriate reason to donate blood? fFafafead A s ar
T G B BT HaA SUYH PRI 3?

1. It stimulate the body to produce new blood cells / g YRR B! '_‘|§ Jad PIRABISN BT RICIES CRCk: ﬁ”l'q
JANId BRAT B



2. Donating blood saves life / Yddql+ SICEEEISIE]
3. The donor gets a free health check up / m AT ®l 'G2) ﬁ?ﬂ?‘ﬁ WA Wi fHrddt % |

4, It reduces the amount of iron, thus protecting heart / pi| Fﬁ% P! AT B HH Bl %, I UbR gad I I&T
HRATR|

Correct Answer :-

« Donating blood saves life / Xddql- EIEEEEIR] %I

35) Which of the following is INCORRECT about metamerism? / Fufafea A d s raw
HATIIId P faug § 3 82

1. An architectural body plan with many segments. / 30_‘51‘: WSl & Y Ueh RTTA IRR IS gl %I
2. Annelids and arthropods show clear segmentation. / Q:”%IS\H 3R gferarg Ty favrsH UefRid #d %I

3. There is rhythmic repetition of similar segments. / ST T Tl Bt dddes l:J,"NICiRi ﬁ %I

4. Segments work independently. ) WS WdF Y B Hd %I

Correct Answer :-

« Segments work independently. / WS WdF 0 W B Hd %I

36) Which of the following is NOT a sign of ageing? / Fafafead ¥ s arsy Elﬁ BT Hobd a1 %?

1. Pumping capacity of heart decreases / &3 DI T &Far H ST T

2. Collagen becomes permeable flexible and soluble / PicioM, TR Saie T @T’I:I'Qﬂﬁ RIS
3. Decrease in the secretion of hormones / BIHH & ¥Td H HHT S|
4, Blood supply to brain and kidney decreases / T Td ddoh T Xad & G‘ITCI;% T T 3T

Correct Answer :-

« Collagen becomes permeable flexible and soluble / PicioM, TR ST T W’Qﬂﬁ IS

37) Which of the following is NOT an ectodermal derivative? Frafafaa d @ s=-ar Udh H'IE]T:TFCI
A g1 82

1. Muscular system / PRIKE]

2. Hair and nails / ST Td ARG

3. Epidermis and epidermal glands / §Tgl o9l Td Siferedf Tt
4. Nervous system / GIECIKE]

Correct Answer :-



« Muscular system / BEIKE]

38) Which of the following is a cytoplasmic inclusion of bacteria? / Fafafead o= vﬁaw; CaRd
PIRTHIEAT 3Ad 32

1. Golgi body / TTeSiIehTd

2. Mitochondria / q@m

3. Mesosome / HYUhTY

4. Endoplasmic reticulum / 3{: U odt Siferep!

Correct Answer :-

« Mesosome / HYIDTY

39) Which of the following are the extra embryonic membranes? / Frafefaa # @ 193 sifafkea
Yo fRreetl 82

1. Chorion, Amnion, Allantois, Yolk sac / SIRT, YUITdRU, &rqwﬁm, Gﬁa?ﬁ

2. Umbilicus, Chorion, Amnion, Allantois / :|'|ﬁ-f, SR, YUITARU, SR BT

3. Placenta, Umbilicus, Allantois, Yolk sac / aﬁ\_ﬂw, :|Tf'1\-[, SRTYIBT , Gﬁﬁa?ﬁ
4. Placenta, Allantois, Chorion, Umbilicus / aﬁ\_rﬁglﬂ:[, SRTANNBT , SIRTY, Gl

Correct Answer :-

« Chorion, Amnion, Allantois, Yolk sac / SIRT, YUITARUT, G{WW, \_rl_CﬁaFﬁ

40) Which part of the neural system is activated during emergency as in stress? / d-Id ¥ 3UTadTd &

SR AT @ 1 S |1 R |ishd 52
1. Para sympathetic N—E{Iﬂa’_ﬁlﬂ
2. Spinal cord IR TASS

3. Sympathetic /G‘W
4. Brain /ARIY®

iy

Correct Answer :-

« Sympathetic / G‘W

41) Which one of the following has 'Blind Sac' body plan? / T8 ¥ fqa®! MRR® i1 T “3i¢
DIV I1 JATSS AD” Sl gl 872



1. Fish / A&l
2. Hydra / 8ISl

3. Man / HI™
4. Sponge / T

Correct Answer :-

« Hydra/gIggl

42) Which one of the following features separates Ctenophora from Cnidaria? / a Rk apk:|

farian, TeRT ot s @ fim s=rdt 32

1. Diploblastic body / fSwneie® dist

2. Radial symmetry / 3R gofHfd

3. Absence of cnidoblasts / nematocysts / ERTHRDI/ SRBIRIDBIS D &Ia'q@ﬁ

4. No special organs for excretion, respiration and circulation / ET\‘:IGT:L Y9 Tq IR & ﬁm ﬁ’sﬁ ﬁﬁrg
3T T I g

Correct Answer :-

« Absence of cnidoblasts / nematocysts / CRIHRDI/ SRDIRIBIS D Gﬂ'q@ﬁ

43) Which one of the protists is an example for obligatory mutualism? / CaE kI Udh ';Nﬂﬁ, fard

AEIUBTRT BT T IETERI ¢?2
1. Trichonympha / Mﬁm

2. Plasmodium / WSHITSTH

3. Entamoeba / Te3HIaT

4, Trypanosoma / Eﬁ‘—ﬁ@m

Correct Answer :-

 Trichonympha / Wﬁm

44) If the chromosome complement of an organism is 2n-2, name the kind of aneuploidy it exhibits. /

gfe TS Siid & TURE R 2n-2 B, @ 39 UPR & TIGWISS! BT A0 JaT¢ forgeT & yeriH #d 2|
1. Monosomy / AR

2. Tetrasomy / CCTHIHT

3. Nullisomy / TeaHt



4, Trisomy / E:Ig@fn

Correct Answer :-

« Nullisomy / T ITH!

45) If the alteration of base sequence is from a purine to pyrimidine, it is ./ afg Hd AJshH |

12 CE R R R S B G A T I e G G e F e 2R o S
1. Insertion / 3fAARH

2. Transversion / ;’W

3. Transition / E'I'T\lrﬁ?f:f

4. Deletion / fadIuA

Correct Answer :-

« Transversion / E;WTY&T

46) The respiratory centre is highly sensitive to the concentration of: / -1 G ﬁl’H’-'-T & gigur & ufa

Jafires HagT=he o

1. 0, / Sl

2. CO, / PIE-ST3-HRITSS

3. Oxyhaemoglobin / m’lﬂ’?ﬁﬁq

4. Carbaminohaemoglobin / Wﬁm

Correct Answer :-

. CO,/ FIEH-SB-HFZS

47) The mass of cortical tissue in between the adjacent renal pyramid is: / 3THHA W-ERT&IS' A

H qepel SHaP BT SodH il 8:
1. Papilla/ﬁmﬁ

2. Calyces / Yc
3. Column of Bertini / & &7 TH

4. Capsule / GYfcehT

Correct Answer :-

« Column of Bertini / Sf¢A1 T ¥dH



48) The wall of the alimentary canal, from oesophagus to rectum consists of ___ layers. / UIYOT AT DY

R, INGTATARI aF _ Wwal | FAfa gt &)
1.3
2.2
3.4
4.5

Correct Answer :-

. 4

49) Cleavage is different from mitotic division in that: /ﬁETUT, '\"I'l:l'\"-j\'?ﬂ Ay I fug 3-1?" % Hifeb:
1. Nucleus is not involved / ATH® éﬂﬁ givferd :|—E:p[ % |

2. There is no spindle formation / cr;l'—:f ﬂ@ 1134 H%’f E;\Idl %l

3. There is no cytokinesis / ®Ts PBIRAHT G- TS T8 BT |

4, Cleavage does not change the size of the original mass G| Hel g HTIH & ATHR DI uRafdd T8t
FRATT

Correct Answer :-

. Cleavage does not change the size of the original mass / {01 Hol codHIH & SMTHR DI giRafcld el
FRAT S

50) What are interferons? / mﬁq T2

1. Virus induced proteins, produced by virus infected cells / AU ofed uﬁ'cﬁ:r, IR b iHd BIRIDHI3
SR Id1ed Bld B

2. They are pheromones / CRERLIS] %I
3. They are bacterial secretions / 3 S iRaT ard % |
4. They are hormones / 3 ETJII“&I %I

Correct Answer :-

« Virus induced proteins, produced by virus infected cells / dIAXY ufRka Eh—cpf:[, IR AH T DIRIBIS
§RT A BId B



